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Question Number : 1 Question Id : 6154752205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

6154758601, 1
£154758602. 2
E15475868032 2
6154758604, 4

Question Number : 1 Question Id : 6154752205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154758601, 1
6154758602, 2
6154758603 3
6154758604, 4

Question Number : 2 Question Id : 6154752206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E154758605. 1
E154758606. 2
E154758607. 3
E154758608. 4

Question Number : 2 Question Id : 6154752206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154758605 1
6154758606, 2
6154758607, 3
154758608, 4

Question Number : 3 Question Id : 6154752207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1) The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ questions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwailability of teacher and his'her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

6154758609, 1
6154758610, 2
6154758611, 3
6154758612 4



Question Number : 3 Question Id : 6154752207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547528609, 1
6154758610, 2

E154758611. 3
B154r5861% 4

Question Number : 4 Question Id : 6154752208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list. which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

(1) MOOCS

(1v) Quizzes

(vl Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (11) and (111)
(3) (1) and (1v)
(4) (111) and (v)

Options:

E154758E13 1
6154758614 2
6154758615 3
6154758616, 4

Question Number : 4 Question Id : 6154752208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154758613 1
6154758614 2
6154758615 3
6154758616, 4

Question Number : 5 Question Id : 6154752209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr

descriptive features. Match the two sets

Set I
(Evaluation system)
(a) Formative evaluation (1)
(b)  Summative evaluation (11)
(c) Norm-referenced testing (111)
(d) Crterion-referenced testing (1v)
(v)

Set 11
(Descriptive features)

Comparing the students’ performance
with that of others

Indicating standards of mastery
Diagnosing students’ problems
Identifving scope for improvement

Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3) (a)-(11). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

B154758617. 1
6154758618 2
6154758619 3
6154758620 4

Question Number : 5 Question Id : 6154752209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)

(2) {a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)

Options:

154758617 1
154758618 2
6154758619, 2
5154758620, 4

Question Number : 6 Question Id : 6154752210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. chzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
6154758211
6154758622 2
6154758623 2
1547586024 4

Question Number : 6 Question Id : 6154752210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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6154758621, 1
6154758622, 2

6154758622 3
E154758624, 4

Question Number : 7 Question Id : 6154752211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of thelr socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

E154758625. 1
E154758626 2
E154758827. 3
E154758628. 4

Question Number : 7 Question |d : 6154752211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE154758625 1
E154r58626. 2
E154758627. 3
6154758628 4

Question Number : 8 Question Id : 6154752212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

E154758629. 1
E154758630. 2
E154758631. 3
BE154758632. 4

Question Number : 8 Question Id : 6154752212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE154758629. 1
E154758630. 2
E154758631. 3
E154758632. 4

Question Number : 9 Question Id : 6154752213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styvles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

E154758633. 1
E154758634 2
6154758635 3
E154758636. 4

Question Number : 9 Question Id : 6154752213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154758633, 1
6154758634, 2

6154758635 3
61547556356, 4

Question Number : 10 Question Id : 6154752214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

(v) Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (1) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

B154758637. 1
6154758638 2
6154758639 3
E154758640 4

Question Number : 10 Question Id : 6154752214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154758637. 1
6154758638 2
E154758E39. 3
E154758640 4

Question Number : 11 Question Id : 6154752215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E154755641. 1
E154758642 2
E154r58643. 3
6154755644, 4

Question Number : 11 Question Id : 6154752215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a), (b) X () (2) (b), (c) &R (d)
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Options:

515475586411
6154758642 2
6154755642 3
E154758644, 4

Question Number : 12 Question Id : 6154752216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E154758645. 1
E15475864E 2
E154758647. 3
51547558648, 4

Question Number : 12 Question Id : 6154752216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547558645. 1



E15475864E 2
6154758647 3
51547558648, 4

Question Number : 13 Question Id : 6154752217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

E1547556459 1
6154758650 2
E154758E51. 3
E154758652. 4

Question Number : 13 Question Id : 6154752217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154755649. 1
6154758650 2
E154758651. 3
E154758652. 4

Question Number : 14 Question Id : 6154752218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (c). (d) and (e) (4) (d). (e) and ()



Options:

6154758653 1
£154758654 2
E154758E5E 2
6154758656, 4

Question Number : 14 Question Id : 6154752218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a). (b) 3T (c) (2) (). (c) 3 (d)
(3) (c). (d) 3T (e) (4)  (d). (e) 3T (D)
Options:

E154758653. 1
E154758654. 2
E154758655. 3
E154758656. 4

Question Number : 15 Question Id : 6154752219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (4)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



BE154758657. 1
6154758658, 2
6154758659 3
6154758660, 4

Question Number : 15 Question Id : 6154752219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154758657, 1
6154758658, 2
6154758659 3
6154758660, 4

Question Number : 16 Question Id : 6154752220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

E154758661. 1
E154758662. 2
E15475866S. 3
E154758664, 4

Question Number : 16 Question Id : 6154752220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6, 14
(3) 15, 35 (4) 24, 56
Options:

51547558661, 1
E154758662. 2
6154758662 3
E154758664, 4

Question Number : 17 Question Id : 6154752221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The number X in the following series :

3.8,18,38. X ...1s

(1) 78 (2) 80
(3) 76 (4) 74
Options:

E154758665. 1
E154758666. 2
E15475E66T. 3
E154758668. 4

Question Number : 17 Question Id : 6154752221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fefgs JTFa 0 X B -

3.8, 18,38 X, ...

(1) i8 (2) 80

(3) 76 (4) 74
Options:

61547558665, 1
E15475866E. 2
E154758EEY. 3
E154758668. 4

Question Number : 18 Question Id : 6154752222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ‘ SOLUTION" 158 RS5KTSHSM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5LH
Options:

E154758669. 1
6154758670 2
E154758E71. 3
BE154758672 4

Question Number : 18 Question Id : 6154752222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
% ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ &1 F=ffiga § & g 9 4 Torar smom ?

(1) BQH/HL (2) B5QLH
(3) BQLLD (4) BS5LH
Options:

E154758669. 1
6154758670 2
E154758671. 3
BE154758672 4

Question Number : 19 Question Id : 6154752223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

BE154758673. 1
BE154758674 2
B154758675. 3
E15475867E6. 4

Question Number : 19 Question Id : 6154752223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



BE154758673. 1
E154r58674 2
B154758675. 3
E15475867E6. 4

Question Number : 20 Question Id : 6154752224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2y 10%
(3) 11% (4) 12%
Options:

B154758677. 1
E154758678. 2
E154758679 3
E154758680. 4

Question Number : 20 Question Id : 6154752224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

B154758677. 1
6154758678 2
6154758679 3
E154758680. 4

Question Number : 21 Question Id : 6154752225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

51547558681, 1
6154758682 2
6154758682 3
E154758684, 4

Question Number : 21 Question Id : 6154752225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Uy Feara 99y gidare) = feafd = avaa § gieed O Al e @1 SRR 9 ° g9E T
1 d1 33 F41 FEl a1 27

(1)  3TIH=H U3 S (2) 7 Ig g
(3)  ATYH-eH Uz EHm (4) T
Options:

E154758681. 1
E154758682. 2
E154758683. 3
E154r58684, 4

Question Number : 22 Question Id : 6154752226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E154758685. 1
E154758686. 2
E154758687. 3
6154758688, 4

Question Number : 22 Question Id : 6154752226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafigg 1 O g o & gay § gfasets i ffdseas 5 &9 d@ o aar 27
(1) A (2) cEd

(3) A (4) F9HH

Options:

E154758685. 1
E154758686. 2
E154758687. 3
E1547538688. 4

Question Number : 23 Question Id : 6154752227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E154758689. 1
E154758690 2
B1547586391. 3
6154758632 4

Question Number : 23 Question Id : 6154752227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TTE AT A5 HrEE AN UA SEE Fi 9l § Feiatad § O e g O getad 27

(1) dggd 13 (2) AT T2
(3) H (4) T YT
Options:

E154758689. 1
E1547588390 2
E154758691. 3
BE154758692, 4

Question Number : 24 Question Id : 6154752228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

E154758633. 1
61547586394 2
E154758695 3
E154758696. 4

Question Number : 24 Question Id : 6154752228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeTciEd ¥ ¥ :H-T1 @%ed Tod% oA aarad ) [Gemdl O ddidd 2 1 29 od J F[4iiEa 2an 2
o TehaTe 7 OHESH F1 R FAT § A9E R AT 27
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Options:

6154758693 1
£154758694 2
£154758695 2
6154758696, 4

Question Number : 25 Question Id : 6154752229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

61547586397 1
61547586398 2
E1547586899. 3
E154758700. 4

Question Number : 25 Question Id : 6154752229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
foft 1 STAR Ul T 1 ESA 6 g 9T 2| 314 3 x 4 x 5 (=60). 6 gNI 94 #| 4 fFH

(1) AT T [y iz 5 ok
(3)  Era® a= (4)  AITEAHF 95
Options:

B154758697. 1
61547586398 2
E154758699 3
6154753700, 4

Sub-Section Number: 2
Sub-Section 1d: 615475100
Question Shuffling Allowed : Yes

Question Id : 6154752230 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 6154752231 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E1547558701. 1
B154758702 2
B154758703 3
E154758704, 4

Question Number : 27 Question Id : 6154752232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154758705. 1
E154758706. 2
E154758707. 3
E154758708. 4

Question Number : 28 Question Id : 6154752233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E1547587059. 1
6154758710 2
E154758711. 3
E15475871Z 4

Question Number : 29 Question Id : 6154752234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

61547537131
E154758714 2
E154758715 3
B154758716. 4

Question Number : 30 Question Id : 6154752235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.,000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

BE154758717. 1
E154758718. 2
6154758719 3
E154758720. 4

Question Id : 6154752230 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



2w (999: 26 ¥ 30) : Fefanagd @ifasn § fafag gmnigy =vas 99 9o SARA1 51 9ideadr 9 T 2
Atz o T S 5 S Sae 99e 9 SEa B FE 9= 12,00,000 2, G A1 WOSATETE
Fafeigd 9941 =1 391 2y

T Ao Jeqma-Ef SAFAT TEH

TTe] ZATRAT =l W]
C++ 15%
C 25%
FIETA 12%
pariEl 13%
iG] 15%
A AR UE b 10%
T2t 10%

Sub questions

Question Number : 26 Question Id : 6154752231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (2) b5:3
(3) gl (4) b5:2
Options:

51547587011
E154758702Z 2
E154758703 3
E154758704, 4

Question Number : 27 Question Id : 6154752232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154758705. 1
E154758706. 2
E154758707. 3
E154758708. 4

Question Number : 28 Question Id : 6154752233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C. a1 31 FE o de A dTe] SRl il Fd T 7

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E1547587059. 1
6154758710 2
6154758711 3
E15475871Z 4

Question Number : 29 Question Id : 6154752234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2T, U 312 U 17 3T = GO Svd i FEEE @ 3 d 6 S 0d 9iqeddr A 27
(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

61547537131
E154758714 2
E154758715 3
B154758716. 4

Question Number : 30 Question Id : 6154752235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E154758717. 1
E154758718. 2
6154758719 3
E154758720. 4

Sub-Section Number: 3
Sub-Section 1d: 615475101
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154752236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {a). (c). (b)

Options:

6154758721 1
6154758722 2
6154758723 3
6154758724 4

Question Number : 31 Question Id : 6154752236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[ | o I ™ g [ i [ i F
HHETARS G JUsT 124715491 94 =1 <I1EU ]
(a) =Ts fZF=

(b)y HiEim

(c) 2 4T 2 Un

'y —-
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(1) (®), (o), (@
2 (). (. (@
3 (o), (b), (a)
4 (@, (). (b)

Options:

61547587211
6154758722 2
6154758723 2
6154758724 4

Question Number : 32 Question Id : 6154752237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:
61547587251

E154758726. 2
BE154758727. 3
B154r58728. 4

Question Number : 32 Question Id : 6154752237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fafafigs @ 4 F9 =1 A gR1 399 9= % 99 & AU gdes v o 4 mgea =1 A o

oo 9 27
(1) 2SS

(2) T

[

(3) FMAT THIG

(4) TATHTHT

Options:

6154758725 1
6154758726 2
6154758727, 3
E154758728. 4

Question Number : 33 Question Id : 6154752238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
154758729 1



E154758730 2
E154758731. 3
B154758732. 4

Question Number : 33 Question Id : 6154752238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Teigd § | i |1 3-Hel o Hed § 390 ¢ 7

(3)

(4)

Options:

T2 FJE H2as WO T UF 0T 2
TE FAT=d AW I 9 H WO 2 Ol 8
$-T1ef gor 7T 9T e 2

211 7q 1 S T 9 BT 2

B1547587259. 1
6154758730 2
6154758731 3
E154758732 4

Question Number : 34 Question Id : 6154752239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

(a)

(b)

(c)

(d)

List I
(E-1nitiatives)
Vidwan
Digilocker
Sakshat

Shodh Ganga

(1)

(11)

(111)

(1v)

Last IT
(Descriptions)

Repository for full-text thesis. e-books
and journals

Education portal to facilitate learning

Databasze of

rezearchers

leading  scientists/

Platform for issuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (c)-(iv). (d)-(11)
(a)-(11). (b)-(1v). (e)-(11). (d)-(1)
(a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(a)-(11). (b)-(1). (e)-(11). (d)-(1v)

E154758733. 1



E154758734 2
6154758735 3
E154758736. 4

Question Number : 34 Question Id : 6154752239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

T=A-1 %1 GEI-11 = 319 AT Hig
T=i-1
(3-wafvrzFm)
(a) r'a- gl
by TEEE=
(c)  HIEE
(d) Ihg T
= 20 U fTeT 4 a8 S 96

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

E1547587232 1
6154758724 2
6154758735 2
6154758736, 4

(1)

{11)

I

(feramo)
q0 e WY e, -g99 AT SHed W
BEL

(ii1) SIS SFIRT /T T SEeE

{(1v)

Question Number : 35 Question Id : 6154752240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
E154d7E5a737. 1



E154758738. 2
61547587359 3
6154758740, 4

Question Number : 35 Question Id : 6154752240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOAZ TA(9d FHEFAT T Soolg 31 30 TF° F1 99 =9 27

(1) 22 19 =0 o

(2)  TE2 AF =9 qgE]
(3) =2 g i ud

(4) 22 79 T OO

Options:

6154758737 1
E154758738. 2
E1547587329 2
6154758740, 4

Question Number : 36 Question Id : 6154752241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

6154758741 1
6154758742 2
6154758743 3
£154758744 4

Question Number : 36 Question Id : 6154752241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£154758741. 1

E154758742 2
E154758743 3
B154758744. 4

Question Number : 37 Question Id : 6154752242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local in nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4)  (1). (11). (111) and (1v)
Options:

E154758745 1
E154758746 2
6154758747 3
6154758748 4

Question Number : 37 Question Id : 6154752242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ST T T &0
(11) e TgHv

i) gE

(iv)  Foar Jiadd
(v) AR

(vi) B 398 JayH

I 72U T g 0 0 OE 39 9 999 S

(1) (ii). (iii). (v) 3T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

5154758745 1
6154758746 2
E154758747. 3
6154758748 4

Question Number : 38 Question Id : 6154752243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeirec Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

E1547587459. 1
6154758750 2
E154758751. 3
E154758752. 4

Question Number : 38 Question Id : 6154752243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafas o O fFe oo Ty auieq /gt 90§ auofig fasm SiFE e (9 3 TEEE wH
T2 ae SaeATHz ) 1 ATTE T 7

(1) =M F5 (2) e fz Sfeh ==
(3)  FrEge gmeg (4) 3TEHITETE FI5H
Options:

6154758749 1
E154758750 2
E154758751. 3



BE154758752. 4

Question Number : 39 Question Id : 6154752244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countries

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

BE154758753. 1
B154758754 2
6154758755 3
E154758756. 4

Question Number : 39 Question Id : 6154752244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
eAfafiga § § FH-51 9% U909 Foard Tadq e 99 (3 U9 O O @ 5 F 359 1 i
27
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(4) TSI EE0 GRS FEAENAT AR i e aan e

Options:

6154758753 1
6154758754 2
6154758755 3
6154758756 4

Question Number : 40 Question Id : 6154752245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

B154758757. 1
6154758758 2
6154753759 3
E154758760. 4



Question Number : 40 Question Id : 6154752245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AN, AT F HA0 7] TavasaTdt ArEshal 3 FHATE i Wiedned #49 gd J U 2 e § 3
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Options:

BE154758757. 1
6154758758 2
E154758759 3
E154758760. 4

Question Number : 41 Question Id : 6154752246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

E154758761. 1
E154758762 2
E154758763. 3
E154758764. 4

Question Number : 41 Question Id : 6154752246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fea w=in g fvafaem =1 3 o oF e 8 3= 3 T gordl 5 g #3
% ¥9 H A1 187

(1) Tee favaiaa=ig (2) Taferen fAvata=g
(3)  Ariean favatEag (4) dFzd favafrem
Options:

BE154758761. 1
E154758762 2
E15475876S. 3
6154758764, 4

Question Number : 42 Question Id : 6154752247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2) (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

BE154758765. 1
E154758766. 2
E154758767. 3
6154753768 4

Question Number : 42 Question Id : 6154752247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefIfigd § 4 #H U 98 -TRA AT FER] F g2 a7
(i) @ gmfer
(11) =4 919
(iii) 797 JEEH
(1v) ATed - fagH
(v)  JoHTHE 9

FATeigd el § 8 A7 30 3

(1) (1), (i) 37 (v (2) (i), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 31 ()
Options:

6154758765, 1
E15475876E6. 2
E154758767. 3
E154758768. 4

Question Number : 43 Question Id : 6154752248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
154758769 1
154758770 2
E1E47587F71. 2
Gl547LEF T2, 4

Question Number : 43 Question Id : 6154752248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  THE 3T f91em 9fmg (v ©i & 2)

(2) AR Aaaeaal I09E (3 @1 =18)

(3)  OWAE T9EE T (AW W e

(4) o 1:1;~:|‘|$,:| R goargq 9 (v U U i)
Options:
£154758769. 1
£154758770. 2

E154758771. 3
E154758772 4

Question Number : 44 Question Id : 6154752249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of voga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

6154758773 1

6154758774 2

6154758775 3

154758776 4

Question Number : 44 Question Id : 6154752249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FATTF- T80 WSl H AT i Wb w4 6 Efaies 8§ 8 5 9 snem 20
(1) ¥ forem fifd-1968
(2) e foren fifg-19386
(3) WA ey faew i wfasy gfe, qoemn @ fatmEms wfde-2012
(4) T e Aid-2019 F1 9
Options:
6154758773 1
E154758774 2

E154758775 3
E154758776. 4

Question Number : 45 Question Id : 6154752250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

BE154758777. 1
E154758778 2
B154758779. 3
E154758780. 4

Question Number : 45 Question Id : 6154752250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3= T9em & 4 datya Aifg s mam = G o + v 991 i weEE #+7

(i) I Frerar i =
(i)  TafEmEE 93 ° gan
(it)  FHATSAT 377 e shigd wd SHEE1 i TEid T

(iv) 9 Tl 1 "5
(v) TS T qidsE

Fefeafad fasedi § O 3191 390 9

(1) (1), (i1) 37T (iii) (2) (i), (ii1) 3E (iv)
(3) (ii1). (1v) 3T (v) (4) (1), (1) 371 (i)
Options:

B154758777. 1
6154758778 2
6154758779 3
E154758780. 4

Sub-Section Number: 4
Sub-Section Id: 615475102
Question Shuffling Allowed : Yes

Question Id : 6154752251 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“democracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating democratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 6154752252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

E154758781. 1
BE154758782 2
E154758783. 3
6154758784, 4

Question Number : 47 Question Id : 6154752253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

5154758785, 1
6154758786 2
E154758757. 3
E154758788. 4

Question Number : 48 Question Id : 6154752254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

6154758789 1
6154753730 2
E154758791. 3
E154758792. 4

Question Number : 49 Question Id : 6154752255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E154758783. 1
E154758794 2
BE154758795 3
B154758796. 4



Question Number : 50 Question Id : 6154752256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralizsation of power 1in a few individuals
Options:

61547587971

154758798 2

61547587939 3

154755800, 4

Question Id : 6154752251 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

T ;46 H 50

gz TeHIaF g TH 999 2 999 A, SAEai, THds 311 S9F 9 9 CAmwaq
9 Wiaued BEd g1 THTH 3GR SArRad SoAEd: TEH UHH % wad § 9H 98 24 2| 34 T F 0
ar=d H T F3 21 91 A1 Fad ® Tdide 21 A THHGH S0 TEd 91 317 6 98 T TSI
AR fag/E =1 %5 701, 11 300 WA 98 - 99 g9 Sad Fed §, 9dd: OEY YR w6 @ 2
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Sub questions

Question Number : 46 Question Id : 6154752252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AragEd T (2) T F A9E
(3)  ifama fams (4) FaHTEHARAT
Options:

51547587811
6154758782 2
6154753782 3
E154758784. 4



Question Number : 47 Question Id : 6154752253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=HiTa% SlaHE F R0 FeeRd 0 O =60 1 329 23717

(1)  TH F1 Aaa (2) 32N AHad
(3) AVATaE ATFAE (4) Tgifa® AFad
Options:

E154753785. 1
E154758786. 2
E154758787. 3
E154758788. 4

Question Number : 48 Question Id : 6154752254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) THEEHE T ==
(3) TSI WE (4) AH-TI=IH =deEn
Options:

BE1547587859. 1
B154758790 2
6154758731 3
E154758732. 4

Question Number : 49 Question Id : 6154752255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T AR Add F a9 F1 g =9 1 JEr 9 2

(1) g e T (2) wldHTaE $i sr=ar
(3) Sl 9iE (4) F@ AM  [GEH] 1 G990 Y5H FT
Options:

6154753793 1
E154758794 2
E154758795 3
B154758736. 4

Question Number : 50 Question Id : 6154752256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



yfafege® AFad % Oad § o F1 70 fo=m 27
(1) Tafa 21 3=
(2)  OET 9rfieE
(3)  HAHHEI TATHA
(4) P ACEA F @A T F FE
Options:
6154758797 1
6154758798, 2

E154758739 3
61547535800, 4

PART 11 Spanish

Section Id : 61547532

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 615475103
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154752257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
: Cuales son los paises con mayor poblacion indigena de América Latina?

(1) México, Chile, Panama, Colombia (2) Argentina, Uruguay, Cuba, Costa Rica
(3) Peru, Bolivia, Ecuador (4) Mexico, Argentina, Peru

Options:

615475558011
6154758802, 2
6154758803, 2
6154758804, 4

Question Number : 51 Question Id : 6154752257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



. Cuales son los paises con mayor poblacion indigena de Ameérica Latina?

(1) Meéxico, Chile, Panama, Colombia (2) Argentina, Uruguay, Cuba, Costa Rica
(3) Peru, Bolivia, Ecuador (4) Mexico, Argentina, Peru

Options:
615475558011

E154758802. 2
E154758803. 3
E1547585804, 4

Question Number : 52 Question Id : 6154752258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La historia verdadera de la conquista de la Nueva Esparia fue escrita por:

(1) Alvar Nufez Cabeza de Vaca (2 Hernan Cortes
(3) Bernal Diaz del Castillo (4) Diego de Landa
Options:

E154758805. 1
E154758806. 2
E154758807. 3
6154758808, 4

Question Number : 52 Question Id : 6154752258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
La historia verdadera de la conquista de la Nueva Esparia fue escrita por:

(1) Alvar Nunez Cabeza de Vaca (2 Hernan Cortes
(3) Bernal Diaz del Castillo (4) Diego de Landa
Options:

5154758805, 1
E154758806. 2
E1547585807. 3
E154758808. 4

Question Number : 53 Question Id : 6154752259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“La declaracion de la independencia de Catalufia” tras un referéndum en octubre de
2017 generd una crisis constitucional e hizo que se exiliara a Bélgica:

(1) Alber Rivera (2) Artur Mas
(3) Gabriel Rufian (4) Carles Puigdemont
Options:

51547585805 1
6154758810 2



E154758811. 3
E154758581%2. 4

Question Number : 53 Question Id : 6154752259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“La declaracion de la independencia de Catalufia” tras un referéndum en octubre de
2017 genero una crisis constitucional e hizo que se exiliara a Bélgica:

(1) Alber Rivera 2)  Artur Mas
(3) Gabriel Rufian (4) Carles Puigdemont
Options:

E154753509. 1
E154758810 2
E1547585811. 3
E154758581%2. 4

Question Number : 54 Question Id : 6154752260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
La obra destacada a que se considera simbdlica de la transicién de |la Edad Media al
Renacimiento era:

(1) La Picara Justina (2) La Celestina
(3) La Diana (4) La perfecta casada
Options:

515475585813 1
61547585814 2
E154758815. 3
E154758816. 4

Question Number : 54 Question Id : 6154752260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La obra destacada a que se considera simbdlica de la transicion de la Edad Media al
Renacimiento era:

(1) La Picara Justina (2) La Celestina
(3) La Diana (4) La perfecta casada
Options:

6154753512 1
E154758814. 2
E154758815 3
E1547585816. 4

Question Number : 55 Question Id : 6154752261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Marinero en tierra 'y Cal y canto son colecciones poéticas de:

(1) Miguel Hernandez (2) Vicente Aleixandre
(3) Rafael Alberti (4) Antonio Machado
Options:

515475858171
6154758818 2
E1547585819. 3
E154758820. 4

Question Number : 55 Question Id : 6154752261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Marinero en tierra 'y Cal y canto son colecciones poéticas de:

(1) Miguel Hernandez (2) Vicente Aleixandre
(3) Rafael Alberti (4) Antonio Machado
Options:

515475858171
6154758818 2
61547585819 3
61547535820 4

Question Number : 56 Question Id : 6154752262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
:Cual es la ciudad mexicana que fue la primera gran ciudad de Ameérica Latina que
despues fue abandonada por razones desconocidas?

(1) Mayapan (2) Teotihuacan
(3) Monte Alban (4) Chichén liza
Options:

E1547585821. 1
E154758822 2
61547585822 3
E154758824. 4

Question Number : 56 Question Id : 6154752262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
;. Cual es la ciudad mexicana que fue la primera gran ciudad de Ameérica Latina que
después fue abandonada por razones desconocidas?

(1) Mayapan (2) Teotihuacan
(3) Monte Alban (4) Chichén liza
Options:

E154758821. 1



E154758822 2
E154758823. 3
E154r585824. 4

Question Number : 57 Question Id : 6154752263 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
; Quien fue otorgado el titulo del “Protector” en América Latina?

(1) Bernardo O’Higgins (2) Simoén Bolivar
(3) José de San Martin (4) Francisco de Miranda
Options:

E154758825. 1
E154758826. 2
BE154758827. 3
E1547585828. 4

Question Number : 57 Question Id : 6154752263 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
: Quien fue otorgado el titulo del “Protector” en América Latina?

(1) Bernardo O’Higgins (2) Simoén Bolivar
(3) José de San Martin (4) Francisco de Miranda
Options:

E1547585825. 1
E154758826. 2
E154758827. 3
E154758828. 4

Question Number : 58 Question Id : 6154752264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La independencia de Brasil fue declarada con:

(1) El Grito de Dolores 2) El Grito de Iguala
(3) El Grito de Guadalupe (4) El Grito de Ipiranga
Options:

E154758829. 1
E1547588230. 2
51547585821, 3
E1547585832. 4

Question Number : 58 Question Id : 6154752264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



La independencia de Brasil fue declarada con:

(1) El Grito de Dolores 2) El Grito de Iguala
(3) El Grito de Guadalupe (4) El Grito de Ipiranga
Options:

E1547585829. 1
6154758830 2
E154758831. 3
E154758832. 4

Question Number : 59 Question Id : 6154752265 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
El Popol-Vuh escrito en idioma quiché pertenece a:

(1) Meéxico (2) Guatemala
(3) Honduras 4y Peru
Options:

E154758833. 1
61547585834 2
6154758835 3
61547585836 4

Question Number : 59 Question Id : 6154752265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
El Popol-Vuh escrito en idioma quiché pertenece a:

(1) México (2)y Guatemala
(3) Honduras (4) Peru
Options:

E1547585833. 1
E1547585834. 2
E154758835 3
E1547585836. 4

Question Number : 60 Question Id : 6154752266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Durante los siglos XVI y XVII sélo existieron en Ameérica Latina:
(1) 2 virreinatos (2) 1 virreinato
(3) 4 virreinatos (4) 3 virreinatos

Options:



E154758837. 1
6154758838, 2
61547585839 3
61547585840 4

Question Number : 60 Question Id : 6154752266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Durante los siglos XVI y XVII sdlo existieron en América Latina:
(1) 2 virreinatos (2) 1 virreinato
(3) 4 virreinatos (4) 3 virreinatos

Options:

E154758837. 1
E154758838. 2
E154758839. 3
E1547585840. 4

Question Number : 61 Question Id : 6154752267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

El grupo ‘Chicago Boys’ en Chile intento traer:

(1) Musica roquera (2) Reformas politicas
(3) Cambios gastrondmicos (4) Reformas econdmicas
Options:

E1547585841. 1
E154758842 2
E154758843. 3
E1547585844. 4

Question Number : 61 Question Id : 6154752267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

El grupo ‘Chicago Boys’ en Chile intento traer:

(1) Musica roquera (2) Reformas politicas
(3) Cambios gastrondmicos (4) Reformas econdmicas
Options:

6154755541 1
E154758842 2
E1547585843 3
51547585844, 4



Question Number : 62 Question Id : 6154752268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
El creador de Cubanidad o identidad nacional por vias de la teoria de ‘Transculturacion’
es:

(1) José Marti (2y Fidel Castro
(3) Moreno Fraginals (4) Ernesto Guevara
Options:

E1547585845. 1
61547585846 2
E154758847. 3
E15475585848. 4

Question Number : 62 Question Id : 6154752268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
El creador de Cubanidad o identidad nacional por vias de la teoria de ‘Transculturacion’
es:

(1) José Marti (2y Fidel Castro
(3) Moreno Fraginals (4) Ernesto Guevara
Options:

E1547585845. 1
61547585846 2
E154758847. 3
E1547585848. 4

Question Number : 63 Question Id : 6154752269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Mujeres de la vida' es un grupo formado en protesta de la matanza de:

(1) mexicanos (2) chilenos
(3) argentinos (4) venezolanos
Options:

E15475858459. 1
E154758850. 2
E154758851. 3
E154758852. 4

Question Number : 63 Question Id : 6154752269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



‘Mujeres de la vida' es un grupo formado en protesta de la matanza de:

(1) mexicanos (2) chilenos
(3) argentinos (4) venezolanos
Options:

E1547585849. 1
6154758850 2
E154758851. 3
E154758852. 4

Question Number : 64 Question Id : 6154752270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Narco-Corridos es un subgéenero de:

(1) telenovelas mexicanas 2) grupos tradicionales colombianos
(3) drogas mexicanas (4) musica folclérica mexicana
Options:

E1547585853. 1
61547585854 2
E154758855 3
E154758856. 4

Question Number : 64 Question Id : 6154752270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Narco-Corridos es un subgénero de:

(1) telenovelas mexicanas (2) grupos tradicionales colombianos
(3) drogas mexicanas (4) musica folclérica mexicana
Options:

E1547585852. 1
E154758854. 2
E154758855 3
E154758856. 4

Question Number : 65 Question Id : 6154752271 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

El Proyecto ‘Modernidad, Colonialidad y De-Colonialidad’ (MCD) abarca las teorias de:

(1) Anibal Quijano y Enrique Dussel

(2) Eduardo Retrepo y Axel Rojas

(3) José Carlos Mariategui y Karl Marx

(4) Pablo Gonzalez Casanova y Rodolfo Stavenhagen



Options:

6154758857 1
£154758858. 2
£154758859 2
154758860, 4

Question Number : 65 Question Id : 6154752271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

El Proyecto ‘Modernidad, Colonialidad y De-Colonialidad’ (MCD) abarca las teorias de:

(1) Anibal Quijano y Enrique Dussel

(2) Eduardo Retrepo y Axel Rojas

(3) Jose Carlos Mariategui y Karl Marx

(4) Pablo Gonzalez Casanova y Rodolfo Stavenhagen
Options:
6154758857, 1
6154758858, 2

61547585859 3
E154758860. 4

Question Number : 66 Question Id : 6154752272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
es el pais ganador dos veces del premio ‘Oscar’ para ‘El secreto de sus ojos’
y ‘La historia oficial’:

(1) Colombia (2) Brasil
(3) Chile (4) Argentina
Options:

E1547585861. 1
E154758862. 2
E154758863. 3
E1547585864. 4

Question Number : 66 Question Id : 6154752272 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
es el pais ganador dos veces del premio ‘Oscar’ para ‘El secreto de sus ojos’
y ‘La historia oficial’:

(1) Colombia (2) Brasil
(3) Chile (4) Argentina
Options:

E154758861. 1
E154758862. 2
E154758863. 3
61547585864, 4



Question Number : 67 Question Id : 6154752273 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i Quien es el ganador mexicano de Academy Award y Director's Guild Award como
Mejor Director?

(1) Tomas Gutiérrez Alea (2) Ricardo Darin
(3) Alejandro Gonzalez Ifiarritu (4) Pedro Almoddvar
Options:

E154758865. 1
E154758866. 2
E154758867. 3
61547585868 4

Question Number : 67 Question Id : 6154752273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
;i Quién es el ganador mexicano de Academy Award y Director's Guild Award como
Mejor Director?

(1) Tomas Gutiérrez Alea (2) Ricardo Darin
(3) Alejandro Gonzalez Ifiarritu (4) Pedro Almodovar
Options:

E154758865. 1
E154758866. 2
E154758867. 3
61547585868, 4

Question Number : 68 Question Id : 6154752274 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
La pelicula El laberinto de Fauna tiene como trasfondo historico:

(1) La rebelion indigenista

(2) La lucha de independencia de Argentina
(3) La lucha de independencia de Cuba

(4) La Guerra Civil espafiola

Options:

6154758869 1
6154758870 2
154758871 2
E154758872. 4

Question Number : 68 Question Id : 6154752274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



La pelicula El laberinto de Fauna tiene como trasfondo histérico:

(1) La rebelidn indigenista

(2) La lucha de independencia de Argentina
(3) La lucha de independencia de Cuba

(4) La Guerra Civil espafiola

Options:
£154758E659. 1

E154758870 2
E154758871. 3
BE154758872. 4

Question Number : 69 Question Id : 6154752275 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

En Espafia hay:

(1) 12 Comunidades Autonomas (2) 14 Comunidades Autonomas
(3) 17 Comunidades Auténomas (4) 15 Comunidades Auténomas
Options:

BE1547585873. 1
6154758874 2
6154758875 3
E154758576. 4

Question Number : 69 Question Id : 6154752275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

En Espafia hay:

(1) 12 Comunidades Autonomas (2) 14 Comunidades Autonomas
(3) 17 Comunidades Auténomas (4) 15 Comunidades Auténomas
Options:

6154753573 1
E154758874 2
E154758875 3
E1547585876. 4

Question Number : 70 Question Id : 6154752276 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



El Santo Patréon de Madrid es:

(1) San Isidro 2y San Fermin
(3) San Pedro (4 San Marcial
Options:

B1547585877. 1
6154758878 2
61547585879 3
E154758880. 4

Question Number : 70 Question Id : 6154752276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

El Santo Patrén de Madrid es:

(1) San Isidro 2y San Fermin
(3) San Pedro (4 San Marcial
Options:

B1547585877. 1
6154758878 2
61547585879 3
E154758880. 4

Question Number : 71 Question Id : 6154752277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La poesia de Andrés Bello sigue el estilo:

(1) Romancista 2) Renacentista
(3) Colonial (4) Humanista
Options:

51547585881, 1
6154758882 2
6154758882 3
E154758884. 4

Question Number : 71 Question Id : 6154752277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La poesia de Andrés Bello sigue el estilo:

(1) Romancista (2) Renacentista
(3) Colonial (4) Humanista
Options:

515475585881, 1



E154758882. 2
E154758883. 3
E1547585884. 4

Question Number : 72 Question Id : 6154752278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
El llano venezolano y la Pampa argentina fueron representados en las siguientes
novelas:

(1) Los de abajo, La voragine (2) El Periquillo Sarniento, Ariel
(3) El mundo es ancho y ajeno, Rayuela (4) Dofa Barbara, Don Segundo Sombra

Options:

6154758885 1
6154758886, 2
6154758887, 3
154758888 4

Question Number : 72 Question Id : 6154752278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
El llano venezolano y la Pampa argentina fueron representados en las siguientes
novelas:

(1) Los de abajo, La voragine (2) El Periquillo Sarniento, Ariel
(3) El mundo es ancho y ajeno, Rayuela (4) Donha Barbara, Don Segundo Sombra

Options:

5154758885 1
6154758886, 2
6154758887, 2
154758888 4

Question Number : 73 Question Id : 6154752279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

: Cual de las siguientes novelas representa el climax del género gauchesco?

(1) El mundo es ancho y ajeno 2) Aves sin nido
(3) Martin Fierro (4) La voragine
Options:

E1547585889. 1
61547585830, 2
E154758891. 3
E1547585892. 4

Question Number : 73 Question Id : 6154752279 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



. Cual de las siguientes novelas representa el climax del género gauchesco?

(1) El mundo es ancho y ajeno 2) Aves sin nido
(3) Martin Fierro (4) La voragine
Options:

E154758889. 1
E154758890. 2
E1547585891. 3
E154758589%. 4

Question Number : 74 Question Id : 6154752280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
El lado parnasiano del modernismo es mejor encontrado en los poemas de Leopoldo
Lugones en :

(1) Azul (2) Martin Fierro
(3) Los crepusculos del jardin (4) Nuestra Ameérica
Options:

51547585853 1
61547585894 2
E154758835. 3
E15475558396. 4

Question Number : 74 Question Id : 6154752280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
El lado parnasiano del modernismo es mejor encontrado en los poemas de Leopoldo
Lugones en :

(1) Azul (2) Martin Fierro
(3) Los crepusculos del jardin (4) Nuestra Ameérica
Options:

E15475858393. 1
E154758894. 2
E154758895. 3
E1547585896. 4

Question Number : 75 Question Id : 6154752281 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Jorge Amado es gran patriarca de:

(1) las letras espafolas (2) las letras britanicas
(3) las letras mexicanas (4) las letras brasilefias
Options:

E154758897. 1



E154758898. 2
E15475858959 3
5154758300, 4

Question Number : 75 Question Id : 6154752281 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Jorge Amado es gran patriarca de:

(1) las letras espafolas (2) las letras britanicas
(3) las letras mexicanas (4) las letras brasilefias
Options:

E154758897. 1
E154758898. 2
515475858959 3
E154758300. 4

Question Number : 76 Question Id : 6154752282 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A quién de los siguientes poetas, aparte de Rubén Dario, se le considera uno de los
grandes exponentes del Modernismo?

(1) Manuel Gonzalez Prada (2) Amado Nervo
(3) Pablo Neruda (4) José Marti
Options:

E154758301. 1
6154758302 2
6154758303 3
61547533904 4

Question Number : 76 Question Id : 6154752282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A quién de los siguientes poetas, aparte de Rubén Dario, se le considera uno de los
grandes exponentes del Modernismo?

(1) Manuel Gonzélez Prada (2) Amado Nervo
(3) Pablo Neruda (4) José Marti
Options:

51547583011
6154758390z 2
6154758903, 3
E154758304, 4

Question Number : 77 Question Id : 6154752283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= IR fue el tema principal del muralismo mexicano.

(1) romanticismo (2)y dadaismo
(3) federalismo (4) indigenismo
Options:

E1547583905. 1
E1547558306. 2
6154758307, 3
6154758308, 4

Question Number : 77 Question Id : 6154752283 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= S fue el tema principal del muralismo mexicano.

(1) romanticismo (2) dadaismo

(3) federalismo (4) indigenismo
Options:

61547533905, 1
E1547583906, 2
E154758307. 3
E154758308. 4

Question Number : 78 Question Id : 6154752284 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La palabra “coma” es una palabra

(1) Homofona (2) Alofona
(3) Homografa (4) Sindnima
Options:

E1547583059. 1
6154753910 2
E15475583911. 3
E1547583912 4

Question Number : 78 Question Id : 6154752284 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La palabra “coma” es una palabra

(1) Homdfona (2) Aldéfona
(3) Homaografa (4) Sindénima
Options:

5154758305 1



E1547583910 2
515475583911 3
B154758391% 4

Question Number : 79 Question Id : 6154752285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

; Cual de los siguientes es un organismo politico armado?

(1) MERCOSUR, BRICS (2) OIT, BID
(3) EZLN, FARC (4) PAN, PRI
Options:

E154758913. 1
E1547583914 2
51547583915 3
515475583916, 4

Question Number : 79 Question Id : 6154752285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

; Cual de los siguientes es un organismo politico armado?

(1) MERCOSUR, BRICS 2) OIT, BID
(3) EZLN, FARC (4) PAN, PRI
Options:

6154755912 1
E1547583914 2
E1547583915 3
E1547583916. 4

Question Number : 80 Question Id : 6154752286 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La intervencién francesa tuvo lugar en México en la década de :

(1) 1850 (2) 1860
(3) 1870 (4) 1880
Options:

E1547583917. 1
615475583918 2
61547583919 3
6154758320 4

Question Number : 80 Question Id : 6154752286 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



La intervencidn francesa tuvo lugar en México en la década de :

(1) 1850 (2) 1860
(3) 1870 (4) 1880
Options:

E154758317. 1
E1547589158. 2
E1547583919 3
B154758920. 4

Question Number : 81 Question Id : 6154752287 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ariel representa:

(1) La relacion social y politica de los paises de América Latina
(2) La lucha entre los socialistas y losrepublicanos
(3) Un fuerte aprecio de la tradicion clasica greco-latina.

(4) La lucha entre los grupos armados
Options:
6154758921 1
6154758922 2
£154758923 2
£1547555924 4

Question Number : 81 Question Id : 6154752287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ariel representa:

(1) La relacién social y politica de los paises de América Latina
(2) La lucha entre los socialistas y losrepublicanos
(3) Un fuerte aprecio de la tradicion clasica greco-latina.

(4) La lucha entre los grupos armados
Options:
E1547E5921. 1
154758922 2
154758923 2
154755924 4

Question Number : 82 Question Id : 6154752288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Ayer me pillé un dedo con la puerta del coche y............... .Casi me desmaye.

(1) cargue las pilas (2) estaba como un roble
(3) vi las estrellas (4) dielalta
Options:

E154758925 1
B154758926 2
B154758927. 3
E1547583928. 4

Question Number : 82 Question Id : 6154752288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ayer me pillé un dedo con la puerta del coche y............... .Casi me desmaye.
(1) carguée las pilas (2) estaba como un roble
(3) vi las estrellas (4) dielalta

Options:

E1547583925 1
E154758926 2
B154r583927. 3
E154758928. 4

Question Number : 83 Question Id : 6154752289 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

*Hace mucho frio” es una oracion:

(1) interrogativa (2) unipersonal
(3) exhortativa (4) subordinada
Options:

6154755929 1
E1547583920 2
E154758921. 3
B154758932. 4

Question Number : 83 Question Id : 6154752289 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“*Hace mucho frio” es una oracion:

(1) interrogativa (2) unipersonal
(3) exhortativa (4) subordinada

Options:



E1547589259. 1
61547583930 2
6154758921, 3
E154758932. 4

Question Number : 84 Question Id : 6154752290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La extranjerizacion es una estrategia de traduccion principalmente recomendada por:

(1) Lawrence Venuti (2) Eugene Nida
(3) Alfredo Panas (4) Michael Halliday
Options:

61547583933 1
6154758934 2
E154758935 3
E1547583936. 4

Question Number : 84 Question Id : 6154752290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La extranjerizacion es una estrategia de traduccion principalmente recomendada por:

(1) Lawrence Venuti (2) Eugene Nida
(3) Alfredo Panas (4) Michael Halliday
Options:

E15475583953. 1
E154758924 2
5154758935 3
E1547583936. 4

Question Number : 85 Question Id : 6154752291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ya te lo he explicado por completo su oferta: no vengas a buscarle los cinco pies al
gato. La expresidn en negrita significa:

(1) cambiar de moda
(2) complicar una teoria de forma exagerada
(3) no prestar atencion al caso

(4) ir a buscar trabajo

Options:

154758937 1
E1547589328 2
6154758929 2
5154758940, 4



Question Number : 85 Question Id : 6154752291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ya te lo he explicado por completo su oferta: no vengas a buscarle los cinco pies al
gato. La expresion en negrita significa:

(1) cambiar de moda
(2) complicar una teoria de forma exagerada
(3) no prestar atencion al caso

(4) Ir a buscar trabajo

Options:

6154758937 1
6154758938 2
£1547589329 2
£154755940. 4

Question Number : 86 Question Id : 6154752292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Para ir al supermercado............. gue seguir todo recto porque en esta calle estan de
obras.

(1) tenga (2) haya tenido

(3) tendra (4) tuviera

Options:

E1547553941. 1
E154758942 2
E1547583943 3
B1547583944. 4

Question Number : 86 Question Id : 6154752292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Para ir al supermercado............. que seguir todo recto porque en esta calle estan de
obras.

(1) tenga (2) haya tenido

(3) tendra (4) tuviera

Options:

E154755941. 1
B1547558942 2
515475583943 3
E1547583944 4

Question Number : 87 Question Id : 6154752293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T , lo podiamos hacer entre los dos.

(1) quiera (2) querrias
(3) quisieras (4) has querido
Options:

E154758945 1
E1547583946 2
E1547583947 3
51547583948, 4

Question Number : 87 Question Id : 6154752293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

S , lo podiamos hacer entre los dos.

(1) quiera (2) querrias

(3) guisieras (4) has querido
Options:

51547583945 1
61547583946 2
E154758347. 3
E1547589458. 4

Question Number : 88 Question Id : 6154752294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s o _sen ] saldra perdiendo por todo esto es ella, asi que no te preocupes.

(1) Lo que (2) La cual
(3) Que (4) Laque
Options:

51547583945 1
6154758350 2
6154758951, 3
E1547583952. 4

Question Number : 88 Question Id : 6154752294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



s o _sen ] saldra perdiendo por todo esto es ella, asi que no te preocupes.

(1) Lo que (2) La cual
(3) Que (4) Laque
Options:

51547583945 1
6154758350 2
6154758951, 3
E1547583952. 4

Question Number : 89 Question Id : 6154752295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tu te la pierdes. Luego ................. me pidas una entrada no te la daré.
(1) Si (2) aungque

(3) siempre que (4) con tal de que

Options:

E1547583953. 1
6154755954 2
E1547583955 3
E1547583956. 4

Question Number : 89 Question Id : 6154752295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hite lapierdes. LUBOO ... coviinun me pidas una entrada no te la daré.
(1) Si (2) aungque

(3) siempre que (4) con tal de que

Options:

6154755952 1
E1547583954 2
B1547583955 3
51547583956, 4

Question Number : 90 Question Id : 6154752296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Hoy el jefe no esta............. flestas, asi que cuidado.

(1) para (2) de
(3) por (4) con
Options:

E1547583957. 1
61547583958, 2
61547583959 3
6154758360, 4

Question Number : 90 Question Id : 6154752296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hoyeljefenoesta............. fiestas, asi que cuidado.

(1) para (2) de

(3) por (4) con
Options:

E1547588957. 1
E1547583958. 2
B1547583959. 3
5154758360, 4

Question Number : 91 Question Id : 6154752297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Lo gue me paso fue que en medio de la conferencia se me fue el santo al cielo. La

expresion en negrita significa:

(1) me entré miedo (2) me puse a tartamudear
(3) perdi el hilo (4) hice un error
Options:

6154755961, 1
E1547583962, 2
E1547583963. 3
E1547583964. 4

Question Number : 91 Question Id : 6154752297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Lo gue me paso fue que en medio de la conferencia se me fue el santo al cielo. La
expresion en negrita significa:

(1) me entré miedo (2) me puse a tartamudear
(3) perdi el hilo (4) hice un error
Options:

51547583961, 1
61547583962 2
E1547583962. 3
6154755964 4

Question Number : 92 Question Id : 6154752298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Acaban de suspender mi vuelo y estoy que trino. La expresion en negrita significa:

(1) me ha entusiasmado (2) me han dado nauseas
(3) estoy enfadado (4) estoy equivocado
Options:

E1547583965. 1
E15475896E. 2
E1547583967. 3
E154758968. 4

Question Number : 92 Question Id : 6154752298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Acaban de suspender mi vuelo y estoy que trino. La expresion en negrita significa:

(1) me ha entusiasmado (2) me han dado nauseas
(3) estoy enfadado (4) estoy equivocado
Options:

E1547583965. 1
E1547583966. 2
BE1547583967. 3
E15475583968. 4

Question Number : 93 Question Id : 6154752299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ya sé que han tocado los mejores virfuosos del momento, pero la verdad es que ha sido
soporifero. La expresion en negrita significa:

(1) decepcionante (2) larguisimo
(3) muy aburrido (4) muy interesante

Options:



E15475896%5. 1
61547583970 2
61547583971 3
E154758972 4

Question Number : 93 Question Id : 6154752299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ya s€ que han tocado los mejores virfuosos del momento, pero la verdad es que ha sido
soporifero. La expresion en negrita significa:

(1) decepcionante (2) larguisimo
(3) muy aburrido (4) muy interesante
Options:

515475839659 1
G154758970 2
61547583971 3
E154758972 4

Question Number : 94 Question Id : 6154752300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Entre las diversas obras literarias que produjo Mariano Jose de Larra, Ef Doncel de don
Enrique el Doliente es el apto ejemplo de:

(1) la novela policiaca (2) la novela detective
(3) la novela histoérica (4) la novela humorosa
Options:

E1547583973. 1
E154758974 2
E1547583975 3
BE1547583976. 4

Question Number : 94 Question Id : 6154752300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Entre las diversas obras literarias que produjo Mariano José de Larra, El Doncel de don

Enrique el Doliente es el apto ejemplo de:

(1) la novela policiaca (2) la novela detective
(3) la novela histérica (4) la novela humorosa
Options:

BE154758973. 1
B154758974 2
61547583975 3
E154758976. 4



Question Number : 95 Question Id : 6154752301 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Los musulmanes que continuaron viviendo en los territorios reconquistados por los
cristianos, fueron llamados:

(1) nazaries (2) mudéjares
(3) lusitanos (4) arabe-africanos
Options:

BE1547583977. 1
61547583978 2
G154758979 3
6154758380, 4

Question Number : 95 Question Id : 6154752301 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Los musulmanes que continuaron viviendo en los territorios reconquistados por los
cristianos, fueron llamados:

(1) nazaries (2) mudéjares
(3) lusitanos (4) arabe-africanos
Options:

E154758977. 1
61547583978 2
E154758979 3
E154758980. 4

Question Number : 96 Question Id : 6154752302 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Los defensores de la monarquia en las Cortes de Cadiz se llamaron:

(1) Liberales (2) Absolutistas
(3) Socialistas (4) Moderados
Options:

5154758981, 1
G154758982. 2
61547583983 3
6154758954 4

Question Number : 96 Question Id : 6154752302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Los defensores de la monarquia en las Cortes de Cadiz se llamaron:

(1) Liberales (2) Absolutistas
(3) Socialistas (4) Moderados
Options:

E154758981. 1
E154758982. 2
E154758983. 3
61547583954, 4

Question Number : 97 Question Id : 6154752303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La colonia que Espafa pierde como los ultimos restos de su imperio en America Latina
era:

(1) Argentina (2) Mexico
(3) Cuba (4) Uruguacy
Options:

E154758985. 1
E154758986. 2
E154758987. 3
61547583988, 4

Question Number : 97 Question Id : 6154752303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La colonia que Espaina pierde como los ultimos restos de su imperio en America Latina
era:

(1) Argentina (2) Mexico
(3) Cuba (4) Uruguacy
Options:

E154758985. 1
6154758986, 2
6154758987, 3
6154758958, 4

Question Number : 98 Question Id : 6154752304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La guerra de la independencia de Espafa contra los franceses fue luchada entre:

(1) 1492-1500 (2) 1805-1820
(3) 1800-1819 (4) 1808-1814

Options:



E154758989. 1
6154758930 2
5154758991 3
E154758932 4

Question Number : 98 Question Id : 6154752304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La guerra de la independencia de Espafa contra los franceses fue luchada entre:

(1) 1492-1500 2) 1805-1820
(3) 1800-1819 (4) 1808-1814
Options:

E1547583989. 1
6154758930, 2
E1547589491. 3
E154758992. 4

Question Number : 99 Question Id : 6154752305 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Los Reyes Catdlicos eran soberanos de los reinados de:

(1) Castilla y Aragdn (2) Castilla y Galicia
(3) Castilla y Valencia (4) Castilla y Andalucia
Options:

5154758953 1
6154758994 2
E154758935 3
E154758956, 4

Question Number : 99 Question Id : 6154752305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Los Reyes Catdlicos eran soberanos de los reinados de:

(1) Castilla y Aragoén (2) Castilla y Galicia
(3) Castilla y Valencia (4) Castilla y Andalucia
Options:

E154758993. 1
6154758994 2
5154758985 3
E154758936. 4

Question Number : 100 Question Id : 6154752306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



;. Cual de las siguientes pinturas es de Diego Velazquez?

(1) La vieja friendo huevos (2) El soplon
(3) El tres de mayo (4) Lavirgen de los reyes catdlicos
Options:

E154758997. 1
6154758998 2
E154758999 3
6154753000, 4

Question Number : 100 Question Id : 6154752306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
;. Cual de las siguientes pinturas es de Diego Velazquez?

(1) La vieja friendo huevos (2) El soplon
(3) El tres de mayo (4) Lavirgen de los reyes catdlicos
Options:

E1547589897. 1
E154758998. 2
51547589959 3
5154753000, 4

Question Number : 101 Question Id : 6154752307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
¢ Cual de las siguientes es una novela?

(1) Los trabajos de Persiles y Sigismunda
(2) El arte nuevo de hacer comedias

(3) Agudeza y el arte del ingenio

(4) Viaje entretenido

Options:

6154752001, 1
6154753002, 2
6154759003 3
61547539004, 4

Question Number : 101 Question Id : 6154752307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



;. Cual de las siguientes es una novela?

(1) Los trabajos de Persiles y Sigismunda
(2) El arte nuevo de hacer comedias

(3) Agudeza y el arte del ingenio

(4) Viaje entretenido

Options:

6154759001, 1
£154759002, 2
154759003, 2
5154753004, 4

Question Number : 102 Question Id : 6154752308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La promocion de las politicas ilustradas sin que se efectuen cambios radicales en el
sistema general monarquico se llama:

(1) la autoria ilustrada (2) el despotismo ilustrado
(3) la intencidn ilustrada (4) lailustracion real
Options:

6154753005, 1
E154753006, 2
E154753007 3
5154753005, 4

Question Number : 102 Question Id ;: 6154752308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La promocion de las politicas ilustradas sin que se efectuen cambios radicales en el
sistema general monarquico se llama:

(1) la autoria ilustrada (2) el despotismo ilustrado
(3) la intencidn ilustrada (4) lailustracion real
Options:

E154753005, 1
E154753006 2
B154753007. 3
E154753005. 4

Question Number : 103 Question 1d : 6154752309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

. A qué obra pertenece el ensayo Los entierros prematuros?

(1) Teatro critico universal (2) Sancho Garcia
(3) Noches lugubres (4) Cartas eruditas

Options:



E154753003 1
6154753010 2
6154753011 3
E15475301% 4

Question Number : 103 Question Id : 6154752309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

¢ A que obra pertenece el ensayo Los entierros prematuros?

(1) Teatro critico universal (2) Sancho Garcia
(3) Noches lugubres (4) Cartas eruditas
Options:

E1547530059 1
6154753010 2
E154753011. 3
E154753012 4

Question Number : 104 Question Id : 6154752310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

La produccion literaria de Gonzalo de Berceo es de caracter:

(1) economico (2) indigenista
(3) politico (4) religioso
Options:

E154753013. 1
E154753014 2
6154753015 3
6154753016, 4

Question Number : 104 Question 1d : 6154752310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

La produccion literaria de Gonzalo de Berceo es de caracter:

(1) econémico (2) indigenista
(2) politico (4) religioso
Options:

51547530131
6154753014 2
6154753015 3
E154753016, 4

Question Number : 105 Question Id : 6154752311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
. Cual de las siguientes obras se basa en cuentos medievales con fines morales?

(1) El Cantar del Mio Cid (2) Cantigas de Santa Maria
(3) El Conde Lucanor (4) La Celestina
Options:

61547530171
6154753018 2
E154753013 3
E154753020 4

Question Number : 105 Question Id : 6154752311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
;. Cual de las siguientes obras se basa en cuentos medievales con fines morales?

(1) El Cantar del Mio Cid (2) Cantigas de Santa Maria
(3) El Conde Lucanor (4) La Celestina
Options:

51547530171
6154753018 2
E154753019 3
E154753020 4

Question Number : 106 Question Id : 6154752312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
. Con guién de los siguientes autores se relaciona la guerra de Lepanto?

(1) Juan de Mena (2) Jorge Manrique
(3) Miguel de Cervantes (4) Gonzalo de Berceo
Options:

51547530211
6154753022 2
6154753022 3
E154753024, 4

Question Number : 106 Question Id : 6154752312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



. Con guién de los siguientes autores se relaciona la guerra de Lepanto?

(1) Juan de Mena (2) Jorge Manrique
(3) Miguel de Cervantes (4) Gonzalo de Berceo
Options:

61547530211
E154753022 2
E154758023 3
E154753024 4

Question Number : 107 Question Id : 6154752313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La vida es sueno es una obra de:

(1) Inca Garcilaso de le Vega (2) Calderdn de |la Barca
(3) Juan Rodriguez Freyle (4) Fray Benito Jerénimo Feijoo
Options:

51547530251
6154753026 2
6154753027, 3
E154753028. 4

Question Number : 107 Question Id : 6154752313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La vida es sueno es una obra de:

(1) Inca Garcilaso de le Vega (2) Calderdn de |la Barca
(3) Juan Rodriguez Freyle (4) Fray Benito Jeronimo Feijoo
Options:

51547530251
6154753026 2
6154753027, 3
E154753028. 4

Question Number : 108 Question Id : 6154752314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Algunos peridodicos famosos de Espaia son:

(a) El Pais
by  ABC
(c) La Luna
(d) La Jornada
(1) (a)y(c)
(2) (a)y(b)
(3) (b)y(d)
(4) (b)w(c)
Options:
61547532029 1
6154759020, 2

51547530321 3
E154753032. 4

Question Number : 108 Question 1d : 6154752314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Algunos periddicos famosos de Espafia son:

(a) El Pais
(b) ABC
(c) La Luna
(d) La Jornada
(1) (a)y(c)
(2) (a)v(b)
(3) (b)y(d)
(4) (b)w(e)
Options:
154759029 1
&154759020, 2

E154753021. 3
BE154753032. 4



Question Number : 109 Question Id : 6154752315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

El Tratado de Tordesillas fue firmado entre:

(a) Espafa
(b) Portugal
(c) Inglaterra
(d) Francia
(1) (a)vic)

(2) (a)v(b)

(3)  (b)y(d)

(4) (b)v(c)

Options:

6154759023 1
6154759024 2
6154759035 3
£154759036. 4

Question Number : 109 Question Id : 6154752315 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

El Tratado de Tordesillas fue firmado entre:

(a) Espafia
(b) Portugal
(c) Inglaterra
(d) Francia
(1) (a)vic)

(2) (a)y(b)

(3)  (by(d)

(4) (b)v(c)

Options:

6154753033 1
615475390324 2
£154759035 2
61547590326, 4

Question Number : 110 Question Id : 6154752316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ramon del Valle-Inclan es autor de:

(a) Flor de santidad

(by  Jardin Umbrio

(c) Sonatas

(d) Troteras y Danzaderas
(1) (a).(b)y(ec)

(2) (a).(b).(e)v(d)

(3) (b).(e)v(d)

4 (a).b)yd

Options:

6154759027 1
£1547590328. 2
51547539029 2
6154759040, 4

Question Number : 110 Question Id : 6154752316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Ramon del Valle-Inclan es autor de:

(a) Flor de santidad

(b) Jardin Umbrio

(c) Sonatas

(d) Troteras y Danzaderas
(1) (a).(b)v(c)

(2) (a).(b).(c)y(d)

(3) (b),(e)w(d)

(4)  (a).(b)y(d)

Options:

6154752027 1
5154759038, 2
6154759029 3
6154753040, 4

Question Number : 111 Question Id : 6154752317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



¢ Cuales de los siguientes monumentos fueron construidos por los romanos en Espafia?

(a) Acueducto de Segovia
(b) Teatro de Mérida

(c) Alcazar de Sevilla

(d) Templo de Vich

(1) (a).(b).¥(d)

(2) (b).(c).v(d)

(3) (a).(b).¥(c)

(4) (a).(c).v(d)

Options:

6154759041 1
61547539042 2
51547590432 2
5154759044 4

Question Number : 111 Question Id : 6154752317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
¢ Cuales de los siguientes monumentos fueron construidos por los romanos en Espafia?

(a) Acueducto de Segovia
(b) Teatro de Mérida

(c) Alcazar de Sevilla

(d) Templo de Vich

(1) (a).(b).y(d)

(2) (b).(c).y(d)

(3) (a),(b).y(c)

(4) (a),(c).v(d)

Options:

6154759041 1
£154759042 2
6154759043 2
5154759044 4

Question Number : 112 Question Id : 6154752318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



: Cuales de los siguientes museos estan en Madrid?

(a) La Reina Sofia

(b) El Prado
(c) El Museo Thyssen-Bornemiza
(d) MNAC

(1) (b).(c).v(d)
(2) (a).(b).¥(d)
(3) (a).(b).¥(c)
(4) (a).(c).y(d)

Options:

6154759045 1
51547539046, 2
6154759047, 3
6154759048 4

Question Number : 112 Question 1d : 6154752318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
; Cuales de los siguientes museos estan en Madrid?

(a) La Reina Sofia

(b) El Prado
(c) El Museo Thyssen-Bornemiza
(d) MNAC

(1) (b).(c).¥(d)
(2) (a).(b).¥(d)
(3) (a).(b),v(c)
(4) (a),(c).y(d)

Options:

6154753045 1
61547539046, 2
5154759047, 2
51547539048 4

Question Number : 113 Question Id : 6154752319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Las siguientes obras pertenecen al mester de juglaria:

(a) Cantar de Rodrigo

(b) Poema de Alfonso Onceno
(c) Libro de Buen Amor

(d) Cantar de Mio Cid

(1) (a),(b).¥(d)

(2) (a),(e).v(d)

(3) (a).(b).v(c)

(4) (b).(c).¥(d)

Options:

6154759049 1
£154759050, 2
61547539051, 2
6154759052, 4

Question Number : 113 Question Id ;: 6154752319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Las siguientes obras pertenecen al mester de juglaria:

(a) Cantar de Rodrigo

(b) Poema de Alfonso Onceno
(c) Libro de Buen Amor

(d) Cantar de Mio Cid

(1) (a).(b).y(d)

(2) (a).(c).v(d)

(3) (a).(b).y(c)

(4) (b).(c).v(d)

Options:

6154752049 1
5154753050, 2
6154759051, 3
6154759052, 4

Question Number : 114 Question 1d : 6154752320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



En las Jarchas se observan rasgos de:

(a) escaso numero de versos
(b) el tema de la ausencia del amigo/amado
(c) simplicidad de vocabulario
(d) obras profanas
(1) (a).(b).y(c)
(2) (a),(b).¥(d)
(3) (b).(c).y(d)
(4) (a),(b).(e)y(d)

Options:

6154759053 1

6154759054 2

6154753055 3
E154753056, 4

Question Number : 114 Question Id : 6154752320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
En las Jarchas se observan rasgos de:

(a) escaso numero de versos
(b) el tema de la ausencia del amigo/amado
(c) simplicidad de vocabulario
(d) obras profanas
(1) (a).(b).y(c)
(2) (a),(b).¥(d)
(3) (b).(c).v(d)
(4) (a),(b).(e)y(d)

Options:

6154759053 1

6154759054 2

6154753055 3
E154753056, 4

Question Number : 115 Question Id : 6154752321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Miguel Delibes es autor de:

(a) [a sombra de cipres es alargada
(b) El principe destronado

(c) El camino

(d) La hoja roja

(1) (a).(b).v(c)

(2) (a),(b),y(d)

(3) (b).(e).¥(d)

(4) (a).(b).(c)¥(d)

Options:

6154753057 1
£154759058. 2
5154759059 2
1547539060, 4

Question Number : 115 Question Id : 6154752321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Miguel Delibes es autor de:

(a) La sombra de ciprés es alargada
(b) El principe destronado

(c) El camino

(d) La hoja roja

(1) (a).(b).v(c)

(2) (a),(b),y(d)

(3) (b).(e).¥(d)

(4) (a).(b).(c)¥(d)

Options:

6154753057 1
£154759058. 2
5154759059 2
154759060, 4

Question Number : 116 Question Id : 6154752322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



México se transformo formalmente en una republica federal:

(a)  justo después de la revolucion

(b) en 1810

(c) en 1824

(d) con el fusilamiento de Agustin de lturbide

: Cuales de las opciones arriba mencionadas son correctas?
(1) (a)v(b)

(2) (c)y(d)

(3) (a)

(4) (a).(b) w(e)

Options:
154759081 1

E154753062, 2
BE154753063. 3
B154753064, 4

Question Number : 116 Question 1d : 6154752322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

México se transformé formalmente en una republica federal:

(a) justo después de la revolucion

(b) en 1810

(e) en 1824

(d) con el fusilamiento de Agustin de lturbide
. Cuales de las opciones arriba mencionadas son correctas?
(1) (a)v(b)

(2) (c)y(d)

(3) (a)

(4) (a).(b) v(c)

Options:

6154759061, 1

6154759062, 2

E154753063. 3
E154753064, 4



Question Number : 117 Question Id : 6154752323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

;. Cuales de las siguientes opciones son correctas sobre la novela indigenista?

(a)  Aves sin nido es una obra indigenista

(b) La novela indigenista fue escrita principalmente en el siglo XXI
(c) Aparecio con fuerza a principios del siglo XIX

(d) Los de abajo es uno de ellos.

(1) (a),(b) ¥ (c)

(2) (b) v (d)

(3) (b)y(e)

(4) (a).v(c)

Options:

6154759065 1
£154759066, 2
154759067, 2
5154759068, 4

Question Number : 117 Question Id : 6154752323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

;. Cuales de las siguientes opciones son correctas sobre la novela indigenista?

(a)  Aves sin nido es una obra indigenista

(b) La novela indigenista fue escrita principalmente en el siglo XXI
(c) Aparecio con fuerza a principios del siglo XIX

(d) Los de abajo es uno de ellos.

(1) (a),(b) ¥ (c)

(2) (b) v (d)

(3) (b)v(c)

(4) (a).v(c)

Options:

6154753065 1
£154759066. 2
E154759067. 2
6154759068, 4

Question Number : 118 Question Id : 6154752324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Los movimientos de la independencia de América Latina fueron en gran medida
influencias ideoldgicas de :

(a) revolucién francesa

(b) revolucion cubana

(c) independencia estadounidense
(d) revolucion chilena

;. Cuales de las arriba mencionadas opciones son correctas?

(1) (a)v(d)

(2) (b)v(c)

(3) (a)v(c)

(4) (e)y(d)
Options:

E154753069. 1
6154753070 2
6154753071 3
6154753072 4

Question Number : 118 Question Id : 6154752324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Los movimientos de la independencia de América Latina fueron en gran medida
influencias ideolodgicas de :

(a) revolucion francesa

(b) revolucion cubana

(c) independencia estadounidense
(d) revolucion chilena

;. Cuales de las arriba mencionadas opciones son correctas?

(1) (a)y(d)

(2) (b)y(c)

(3) (a)vic)

(4) (e)y(d)
Options:

E154753065. 1
B15475307°0 2
6154753071 3
E154753072 4

Question Number : 119 Question Id : 6154752325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Unos de los mayores retos de la sociedad latinoamericana actualmente son:

(a) el racismo, el abuso de poder
(b) La corrupcion, la violencia social
(c) El cine, la artesania

(d) La natalidad, la cifra del empleo

;. Cuales de los elementos arriba mencionados son correctos?

(1) (a).(b) v (d)
(2) (a)y(d)
(3) (a)y(b)
4)  (b)y(e)

Options:
6154759073 1

E154753074 2
E154753075 3
B154753076. 4

Question Number : 119 Question Id ;: 6154752325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Unos de los mayores retos de la sociedad latinoamericana actualmente son:

(a) el racismo, el abuso de poder
(b) La corrupcion, la violencia social
(c) El cine, la artesania

(d) La natalidad, la cifra del empleo

. Cuales de los elementos arriba mencionados son correctos?

(1) (a).(b) v (d)
(2) (a)y(d)
(3) (a)v(b)
(4)  (b)y(e)

Options:

6154759073 1
6154759074 2
6154759075 3
£154759076. 4



Question Number : 120 Question Id : 6154752326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

El afio 1492 marco:

(a) la publicacion de la primera Gramatica Castellana de Nebrija
(b) la invencidn de la imprenta

(e) la expulsion de los judios

(d) la caida de Granada

;. Cual de las opciones es correcta?

(1) (a),(b) v(c)
(2) (a).(b) y(d)
(3) (b).(c) y(d)
(4) (a).(e) v(d)
Options:
61547590771
154753075 2

E154753079 3
6154753080, 4

Question Number : 120 Question Id : 6154752326 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

El afio 1492 marco:

(a) la publicacion de la primera Gramatica Castellana de Nebrija
(bh) la invencion de la imprenta

(c) la expulsion de los judios

(d) la caida de Granada

. Cual de las opciones es correcta?

(1) (a).(b) ¥(c)
(2) (a).(b) y(d)
(3) (b).(e) ¥(d)
(4) (a).(e) v(d)

Options:

154759077 1
6154759078, 2
6154759079 3
6154753080, 4



Question Number : 121 Question Id : 6154752327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

El consejo de la Suprema y General Inquisicion (1493):

(a) fue un tribunal eclesiastico

(b) fue establecido para contener la disidencia religiosa

(c) fue un instrumento de alcanzar la unidad religiosa catdlica
(d) fomento la pluralidad religiosa

; Cual de las opciones es correcta?

(1) (a),(b), y(c)

(2) (b).(c). y(d)

(3) (a).(e), ¥(d)

(4) (a).(b). v(d)

Options:
6154759051 1

E154753082. 2
5154753083 3
5154753084, 4

Question Number : 121 Question 1d : 6154752327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

El consejo de la Suprema y General Inquisicion (1493):

(a) fue un tribunal eclesiastico

(b) fue establecido para contener la disidencia religiosa

(c) fue un instrumento de alcanzar la unidad religiosa catdlica
(d) fomentd la pluralidad religiosa

;. Cual de las opciones es correcta?

(1) (a).(b). v(e)

(2) (b).(c). y(d)

(3)  (a)(e). y(d)

(4) (a).(b), y(d)

Options:
61547590381 1
6154759082, 2



E154753083. 3
E154753084. 4

Question Number : 122 Question Id : 6154752328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

;. Cuales de los siguientes son asociados con el barroco?

(a) Inestabilidad
(b) Agitacion

(c) Evasion

(d) Optimismo
(1) (a).(b), y(d)
(2) (a),(c). v(d)
(3) (b).(e), ¥(d)
(4) (a).(b), v(c)

Options:

£154759035 1
£154759086. 2
154759087, 2
51547539088, 4

Question Number : 122 Question Id : 6154752328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

. Cuales de los siguientes son asociados con el barroco?

(a) Inestabilidad
(b) Agitacion

(c) Evasion

(d) Optimismo
(1) (a).(b), v(d)
(2) (a).(c), ¥(d)
(3)  (b).(c), y(d)
(4) (a).(b), v(c)

Options:
6154753085 1
£154759086. 2

E154753087. 5



E154753088. 4

Question Number : 123 Question Id : 6154752329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
¢ Cuales de las siguientes obras dramaticas pertenecen al género de “capa y espada’?

(a) Barlan y Josafat
(b) La dama duende

(c) El acero de Madrid

(d) El cerco de Numancia

(1) (b).v(c)

(2) (e),v(d)

3 (d.y(a)

(4) (c).v(a)
Options:

6154753059, 1
E154753090 2
E154753091. 3
B154753082 4

Question Number : 123 Question Id : 6154752329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
. Cuales de las siguientes obras dramaticas pertenecen al género de “capa y espada’™?

(a) Barlan y Josafat
(b) La dama duende

(c) El acero de Madrid

(d) El cerco de Numancia

(1) (b).v(c)

(2) (c),v(d)

(3) (d).v(a)

(4) (c).v(a)
Options:

E1547530859. 1
E154753090 2
6154753031 3
6154753032 4

Question Number : 124 Question 1d : 6154752330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



. Cuales de los siguientes temas caracterizan la literatura atrea?

(a) La honra

(b) El espiritu de la contrarreforma
(e) La critica del estado monarquico
(d) La convivencia religiosa

(1) (e)y(d)

(2) (a)y(d)

(3) (a)v(c)

(4) (a),(b)

Options:
61547590453 1

E154753094 2
E154753095 3
5154753096, 4

Question Number : 124 Question Id ;: 6154752330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
;. Cuales de los siguientes temas caracterizan la literatura aurea?

(a) La honra

(b) El espiritu de la contrarreforma
(c) La critica del estado monarquico
(d) La convivencia religiosa

(1) (e)y(d)

(2) (a)v(d)

(3) (a)v(c)

(4) (a).(b)

Options:

6154759093 1
6154759094 2
6154759095 3
6154759096, 4

Question Number : 125 Question Id : 6154752331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



La cultura barroca en su conjunto se caracteriza como:

(a) revolucionaria

(b) conservadora

(c) masiva

(d) contrareformista

. Cual de las opciones es correcta?
(1) (a).(b) ¥(c)

(2) (c).(d) v(a)

3)  (b).(e) y(d)

(4) (c)v(a)

Options:

6154753097 1
£154759098. 2
5154759099, 2
5154759100, 4

Question Number : 125 Question Id : 6154752331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La cultura barroca en su conjunto se caracteriza como:

(a) revolucionaria

(b) conservadora

(c) masiva

(d) contrareformista

. Cual de las opciones es correcta?
(1) (a).(b) ¥(c)

(2) (c).(d) v(a)

(3) (b).(c) v(d)

(4) (c)v(a)

Options:

6154753097 1
£154759098. 2
5154759099, 2
154759100, 4



Question Number : 126 Question Id : 6154752332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
;. Cuales de los siguientes son representativos de la poesia de Gustavo Adolfo Bécquer?

(a) El humor

(b) La mujer ideal

(c) La desesperacion
(d) La sentimentalidad
(1) (a).(b), v(c)

(2) (c).(d). y(a)

(3) (b).(e). v(d)

4)  (e). y(a)

Options:

6154759101, 1
6154759102, 2
6154759103 2
5154759104, 4

Question Number : 126 Question Id : 6154752332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

: Cuales de los siguientes son representativos de la poesia de Gustavo Adolfo Bécquer?

(a) El humor

(b) La mujer ideal

(c) La desesperacion
(d) La sentimentalidad
(1) (a).(b). ¥(c)

(2) (e).(d). v(a)

(3) (b).(c). y(d)

(4) (c). v(a)

Options:

6154759101, 1
6154759102, 2
6154759103 3
6154759104 4

Question Number : 127 Question 1d : 6154752333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Relacione las obras y sus autores y escoja la opcion correcta:

(a) Juntacadaveres (1)  Adolfo Bioy Casares
(by El tunel () José Lezama Lima
(c) Paradiso (i11) Juan Carlos Onetti
(d) La invencion de Morel (tv) Ernesto Sabato

(1) (a)-(11). (b)-(1). (¢)-(iv), (d)-(ii1)
(2) (a)-(iv). (b)-(ii1). (e)-(1), (d)-(i1)
(3) (a)-(1), (b)-(iid). (c)-(iv). (d)-(i1)
(4) (a)-(iii), (b)-(iv). (c)-(i1), (d)-(1)

Options:

6154759105 1
6154759106, 2
£154759107. 2
6154759108, 4

Question Number : 127 Question Id : 6154752333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Relacione las obras y sus autores y escoja la opcion correcta:

(a) Juntacadaveres (1)  Adolfo Bioy Casares
(by El tunel () José Lezama Lima
(c) Paradiso (i11) Juan Carlos Onetti
(d) La invencion de Morel (tv) Ernesto Sabato

(1) (a)-(11). (b)-(1). (¢)-(iv), (d)-(ii1)
(2) (a)-(iv). (b)-(ii1). (e)-(1), (d)-(i1)
(3) (a)-(1), (b)-(iid). (c)-(iv). (d)-(i1)
(4) (a)-(iii), (b)-(iv). (c)-(i1), (d)-(1)

Options:

6154759105 1
6154759106, 2
£154759107. 2
6154759108, 4

Question Number : 128 Question Id : 6154752334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Relacione las peliculas con sus directores y escoja la opcion correcta:

(a)
(b)
(e)
(d)

(1)
(2)
(3)
(4)

Options:

Laberinto del fauno (1)

Tres tristes tigres (i1)
Amores perros (111)
Tiempo de morir (1v)

(a)-(1v). (b)-(11). (c)-(1), (d)-(111)
(a)-(1). (b)-(id). (c)-(111). (d)-(iv)
(a)-(i11), (b)-(1), (c)-(11), (d)-(Qv)
(a)-(1v), (b)-(ii1), (e)-(11), (d)-(1)

£154753109. 1
6154753110 2
E154753111. 3
BE15475311%2 4

Alejandro Gonzalez IRarritu
Raul Ruiz
Arturo Ripstein

Guillermo del Toro

Question Number : 128 Question Id ;: 6154752334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Relacione las peliculas con sus directores y escoja la opcion correcta:

(a)
(b)
(e)
(d)

(1)
(2)
(3)
(4)

Options:

Laberinto del fauno (1)

Tres tristes tigres (i1)
Amores perros (111)
Tiempo de morir (1v)

(a)-(1v). (b)-(11). (c)-(1), (d)-(111)
(a)-(1). (b)-(id). (c)-(111). (d)-(iv)
(a)-(i11), (b)-(1), (c)-(11), (d)-(Qv)
(a)-(1v), (b)-(ii1), (e)-(11), (d)-(1)

£154753109. 1
6154753110 2
E154753111. 3
BE15475311%2 4

Alejandro Gonzalez IRarritu
Raul Ruiz
Arturo Ripstein

Guillermo del Toro

Question Number : 129 Question Id ;: 6154752335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Relacione los elementos de las siguientes columnas y escoja la opcidn correcta:

(a) El renacimiento (1) El pesimismo
(b) La contrarreforma (11) El luteranismo
(c) Lareforma protestante (i11) El concilio de Trento
(d) El barroco (iv) El antropocentrismo

(1) (a)-(1), (b)-(11). (¢)-(iv), (d)-(ii1)
(2) (a)-(i1). (b)-(iii), (c)-(1), (d)-(iv)
(3) (a)-(iv). (b)-(11), (c)-(111). (d)-(1)
(4) (a)-(iv). (b)-(ii1). (¢)-(11). (d)-(1)

Options:

6154759113 1
5154759114 2
6154759115 2
6154759116 4

Question Number : 129 Question Id ;: 6154752335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Relacione los elementos de las siguientes columnas y escoja la opcidn correcta:

(a) El renacimiento (1) El pesimismo
(b) La contrarreforma (11) El luteranismo
(c) Lareforma protestante (i11) El concilio de Trento
(d) El barroco (iv) El antropocentrismo

(1) (a)-(1), (b)-(11). (¢)-(iv), (d)-(ii1)
(2) (a)-(i1). (b)-(iii), (c)-(1), (d)-(iv)
(3) (a)-(iv). (b)-(11), (c)-(111). (d)-(1)
(4) (a)-(iv). (b)-(ii1). (¢)-(11). (d)-(1)

Options:

6154759113 1
5154759114 2
6154759115 2
6154759116 4

Question Number : 130 Question Id : 6154752336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Relacione los elementos de las dos columnas siguientes y escoja la opcidon correcta:

(a) El sustituto
(b)y La desheredada
() Los pazos de Ulloa

(d) Pepita Jiménez

(1) (a)-(111), (b)-(1v), (e)-(1), (d)-(i1)
(2) (a)-(1). (b)-(d1). (c)-(iv). (d)-(iii)
(3) (a)-(11), (b)-(11), (e)-(), (d)-(iv)
(4) (a)-(1v). (b)-(11), (e)-(i11). (d)-(1)

Options:

6154759117 1
5154759118 2
6154759119 3
6154759120 4

Emilia Pardo Bazan
Juan Valera
Leopoldo Alas Clarin

Benito Pérez Galdods

Question Number : 130 Question Id : 6154752336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Relacione los elementos de las dos columnas siguientes y escoja la opcidon correcta:

(a) El sustituto
(b)y La desheredada
() Los pazos de Ulloa

(d) Pepita Jiménez

(1) (a)-(111), (b)-(1v), (e)-(1), (d)-(i1)
(2) (a)-(1). (b)-(d1). (c)-(iv). (d)-(iii)
(3) (a)-(11), (b)-(11), (e)-(), (d)-(iv)
(4) (a)-(1v). (b)-(11), (e)-(i11). (d)-(1)

Options:

6154759117 1
5154759118 2
6154759119 3
6154759120 4

Emilia Pardo Bazan
Juan Valera
Leopoldo Alas Clarin

Benito Pérez Galdods

Question Number : 131 Question Id : 6154752337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Relacione las obras y sus autores correctamente:

(a) Federico Garcia Lorca (1) La arboleda pérdida

(b) Rafael Alberti (i1) Cantico

(c)y Jorge Guillén (111) La voz a ti debida

(d) Pedro Salinas (iv) Romancero Gitano
Codes:

(1) (a)-(11). (b)-(1). (¢)-(iv), (d)-(iii)
(2) (a)-(iv). (b)-(iii), (e)-(1), (d)-(i1)
(3) (a)-(i11). (b)-(1v), (e)-(11), (d)-(1)
(4) (a)-(1v), (b)-(1), (c)-(11), (d)-(111)

Options:

5154759121 1
154759122 2
6154759123 2
6154759124 4

Question Number : 131 Question Id ;: 6154752337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Relacione las obras y sus autores correctamente:

(a) Federico Garcia Lorca (1) La arboleda pérdida

(b) Rafael Alberti (i1) Cantico

(c)y Jorge Guillén (111) La voz a ti debida

(d) Pedro Salinas (iv) Romancero Gitano
Codes:

(1) (a)-(11). (b)-(1). (¢)-(iv), (d)-(iii)
(2) (a)-(iv). (b)-(iii), (e)-(1), (d)-(i1)
(3) (a)-(i11). (b)-(1v), (e)-(11), (d)-(1)
(4) (a)-(1v), (b)-(1), (c)-(11), (d)-(111)

Options:

5154759121 1
154759122 2
6154759123 2
6154759124 4

Question Number : 132 Question Id : 6154752338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Relacione los autores y sus nacionalidades y escoja la opcion correcta:

(a) Jose Marti (i) Mexico
(by Manuel Gonzalez Prada 1) Peru
(e) Gabriela Mistral (111) Chile
(d) Amado Nervo (iv) Cuba

(1) (a)-(1v), (b)-(i1). (e)-(111). (d)-(1)
(2) (a)-(1), (b)-(11), (c)-(iv), (d)-(111)
(3)  (2)-@). (b)-(1). (c)-@). (d)-(1v)
(4) (a)-(1v). (b)-(1i1), (c)-(11), (d)-(1)

Options:

6154759125 1
6154759126 2
£154759127. 2
6154759128 4

Question Number : 132 Question Id : 6154752338 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Relacione los autores y sus nacionalidades y escoja la opcion correcta:

(a) Jose Marti (i) Mexico
(by Manuel Gonzalez Prada 1) Peru
(e) Gabriela Mistral (111) Chile
(d) Amado Nervo (iv) Cuba

(1) (a)-(1v), (b)-(i1). (e)-(111). (d)-(1)
(2) (a)-(1), (b)-(11), (c)-(iv), (d)-(111)
(3)  (2)-@). (b)-(1). (c)-@). (d)-(1v)
(4) (a)-(1v). (b)-(1i1), (c)-(11), (d)-(1)

Options:

6154759125 1
6154759126 2
£154759127. 2
6154759128 4

Question Number : 133 Question Id : 6154752339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Relacione los elementos en las dos columnas apropiadamente y escoja la opcion

correcta:
(a) Dell Hymes
(by Competencia existencial

(c)
(d)

(1)
(2)
(3)
(4)

Options:

Meétodo audiolingual

Metodo gramatica-traduccion

(a)-(11). (b)-(1v). (c)-(i11). (d)-(1)
(a)-(1), (b)-(111). (e)-(11). (d)-(1v)
(a)-(iii), (b)-(1), (¢)-(iv), (d)-(ii)
(a)-(i1). (b)-(1). (c)-(iii), (d)-(iv)

61547591291
E1547539130 2
E154753121. 3
6154753132 4

(1)

(1)
(iii)

(1v)

Traduccion entre lengua
lengua madre

Enfogue comunicativo
Conductismo

meta vy

Suma de caracteristicas individuales

Question Number : 133 Question Id ;: 6154752339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Relacione los elementos en las dos columnas apropiadamente y escoja la opcion

correcta:

(a) Dell Hymes

(b) Competencia existencial

() Metodo audiolingual

(dy Metodo gramatica-traduccion
(1) (a)-(11). (b)-(1v). (c)-(i11). (d)-(1)
(2) (a)-(1). (b)-(111), (e)-(11). (d)-(1v)
(3) (a)-(1ii), (b)-(1), (¢)-(iv), (d)-(11)
(4) (a)-(11). (b)-(1). (e)-(111), (d)-(1v)

(1)

(11)
(111)

(1v)

Traduccion entre lengua meta vy

lengua madre
Enfoque comunicativo
Conductismo

Suma de caracteristicas individuales



Options:

6154759129 1
6154759120 2
154759121 2
6154759122 4

Question Number : 134 Question Id : 6154752340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Relacione los elementos de las dos columnas siguientes correctamente y escoja la
opcion correcta:

(a) Carpe diem (i) Amor constante mas alla de Ia
muerte

(b)y Coincidentia Oppositorum 1) Soneto XXIlI “En tanto que de
rosa...”

(c) Culteranismo (1) Noche serena

(d) Poesia mistica (iv) Soledades

(1) (a)-(1), (b)-(i1), (¢)-(1v), (d)-(i1i)
(2) (a)-(i1), (b)-(iii). (e)-(1). (d)-(iv)
(3) (a)-(11). (b)-(1), (e)-(1v), (d)-(111)
4) (a)-(1v). (b)-(ii). (e)-(1ii). (d)-(1)

Options:

6154759133 1
61547591324 2
£1547591325 2
5154759126, 4

Question Number : 134 Question Id : 6154752340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Relacione los elementos de las dos columnas

opcion correcta:

(a)

(b)

(c)
(d)

(1)
(2)
(3)
(4)

Options:

Carpe diem
Coincidentia Oppositorum

Culteranismo
Poesia mistica

(a)-(1), (b)-(11). (e)-(iv), (d)-(i11)
(a)-(1). (b)-(11). (e)-(A). (d)-(1v)
(a)-(11). (b)-(1), (c)-({v), (d)-(ii1)
(a)-(1v), (b)-(i1). (c)-(111). (d)-(1)

51547531331
6154753134 2
£154753135 3
E1547539136. 4

(1)

(11)

(111)

(1v)

siguientes correctamente y escoja la

Amor constante mas alla de Ia
muerte

Soneto XXIlI “En tanto que de
rosa...”

Noche serena
Soledades

Question Number : 135 Question Id : 6154752341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Relacione los elementos de las dos columnas siguientes y escoja la opcién correcta:

(a) Gaspar Melchor de Jovellanos
(b) Benito Jeronimo Feijoo
(c) José Cadalso

(d) Leandro Fernandez de Moratin

(1) (a)-(1). (b)-(11). (e)-(1v). (d)-(1i1)
(2) (a)-(11). (b)-(i11). (e)-(1). (d)-(1v)
(3) (a)-(11). (b)-(1). (e)-(1v), (d)-(111)

(4) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
Options:

£154759137. 1

6154759138, 2

£154759139. 3

£154759140. 4

(1)
(i)
(1i1)

(1v)

Teatro critico universal
El delincuente honrado
El si de las nifias

Cartas marruecas

Question Number : 135 Question Id : 6154752341 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Relacione los elementos de las dos columnas siguientes y escoja la opcidn correcta:

(a) Gaspar Melchor de Jovellanos (1)  Teatro critico universal
(b) Benito Jerénimo Feijoo (1) El delincuente honrado
(e) José Cadalso (i11) El si de las nifias

(d) Leandro Fernandez de Moratin (iv) Cartas marruecas

(1) (a)-(1). (b)-(11). (e)-(iv). (d)-(ii1)
(2) (a)-(11). (b)-(i11). (e)-(1). (d)-(1v)
(3) (a)-(11). (b)-(1). (e)-(1v), (d)-(111)

(4) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
Options:

£154759137. 1

6154759138, 2

£154759139. 3

£154759140. 4

Question Number : 136 Question Id : 6154752342 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La secuencia correcta histéricamente es:

(1) Celtas, Fenicios, Cartagineses, Visigodos
(2) Fenicios, Celtas, Cartagineses, Visigodos
(3) Celtas, Fenicios, Visigodos, Cartagineses

(4) Visigodos, Celtas, Fenicios, Cartagineses

Options:

5154759141 1
6154759142 2
5154759143 3
6154759144 4



Question Number : 136 Question Id : 6154752342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La secuencia correcta histéricamente es:

(1) Celtas, Fenicios, Cartagineses, Visigodos
(2) Fenicios, Celtas, Cartagineses, Visigodos
(3) Celtas, Fenicios, Visigodos, Cartagineses

(4) Visigodos, Celtas, Fenicios, Cartagineses

Options:

6154759141 1
6154759142 2
51547591432 2
6154759144 4

Question Number : 137 Question Id : 6154752343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Las cadenas montafnosas que recorren Ameérica Latina de arriba abajo son:

(1) Andes, Sierra Madre, Montafas Rocosas, Sierras Costeras
(2) Sierras Costeras, Sierra Madre, Montafas Rocosas, y Andes
(3) Montafias Rocosas, Andes, Sierra Madre y Sierras Costeras

(4) Montafhas Rocosas, Sierra Madre, Sierras Costeras, y Andes

Options:

5154759145 1
6154759146 2
5154759147 2
5154759148 4

Question Number : 137 Question Id : 6154752343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Las cadenas montafosas que recorren América Latina de arriba abajo son:

(1) Andes, Sierra Madre, Montafias Rocosas, Sierras Costeras

(2) Sierras Costeras, Sierra Madre, Montafas Rocosas, y Andes
(3) Montafias Rocosas, Andes, Sierra Madre y Sierras Costeras
(4) Montafas Rocosas, Sierra Madre, Sierras Costeras, y Andes

Options:

6154759145 1
6154759146 2
6154759147 2
5154759148 4

Question Number : 138 Question Id : 6154752344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arregle en el orden cronolégico del afio en el que ocurrieron las siguientes revoluciones
en Ameérica Latina:

(1) Haitiana, mexicana, cubana, chilena.
(2) Cubana, haitiana, chilena, mexicana
(3) Cubana, mexicana, chilena, haitiana
(4) Mexicana, haitiana, cubana, chilena

Options:

£154759149. 1

£154759150. 2

E154753151. 3
E154753152 4

Question Number : 138 Question Id ;: 6154752344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arregle en el orden cronolégico del afio en el que ocurrieron las siguientes revoluciones
en Ameérica Latina:

(1) Haitiana, mexicana, cubana, chilena.
(2) Cubana, haitiana, chilena, mexicana
(3) Cubana, mexicana, chilena, haitiana

(4) Mexicana, haitiana, cubana, chilena

Options:

6154759149 1
£154759150 2
6154759151, 2
6154759152 4

Question Number : 139 Question Id ;: 6154752345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ponga en orden cronoldgico segun el afio que recibieron el premio nobel de la literatura:

(1) Miguel Angel Asturias, Gabriel Mistral, Pablo Neruda, Gabriel Garcia Marquez,
Mario Vargas Llosa

(2) Mario Vargas Llosa, Pablo Neruda, Gabriela Mistral, Gabriel Garcia Marquez,
Miguel Angel Asturias

(3) Gabriela Mistral, Miguel Angel Asturias, Pablo Neruda, Gabriel Garcia Marquez,
Mario Vargas Llosa

(4) Gabriel Garcia Marquez, Mario Vargas Llosa, Gabriela Mistral, Pablo Neruda,
Miguel Angel Asturias

Options:

154759153 1
£154759154 2
E154759155. 2
6154759156, 4

Question Number : 139 Question Id : 6154752345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ponga en orden cronoldgico segun el afno que recibieron el premio nobel de la literatura:

(1)

(3)

(4)

Options:

Miguel Angel Asturias, Gabriel Mistral, Pablo Neruda, Gabriel Garcia Marquez,
Mario Vargas Llosa

Mario Vargas Llosa, Pablo Neruda, Gabriela Mistral, Gabriel Garcia Marquez,
Miguel Angel Asturias

Gabriela Mistral, Miguel Angel Asturias, Pablo Neruda, Gabriel Garcia Marquez,
Mario Vargas Llosa

Gabriel Garcia Marquez, Mario Vargas Llosa, Gabriela Mistral, Pablo Neruda,
Miguel Angel Asturias

51547531531
6154753154 2
£154753155 3
6154753156 4

Question Number : 140 Question Id : 6154752346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ildentifique la serie cronolégica correcta:

(1)

(2)

(3)

(4)

Options:

El medico de su honra, El Amadis de Gaula, La vida es suefio
El Amadis de Gaula, Guzman de Alfarache, Fuenteovejuna
Lazarillo de Tormes, El gran teatro de mundo, Amadis de Gaula

Darlo todo y no dar nada, el Quijote, el Buscoén

E154759157. 1
6154753158 2
6154753159 3
6154753160, 4

Question Number : 140 Question Id : 6154752346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ildentifique la serie cronolégica correcta:

(1) El medico de su honra, El Amadis de Gaula, La vida es suefio
(2) El Amadis de Gaula, Guzman de Alfarache, Fuenteovejuna

(3) Lazarillo de Tormes, El gran teatro de mundo, Amadis de Gaula

(4) Darlo todo y no dar nada, el Quijote, el Buscon

Options:

6154759157 1
6154759158 2
6154759159 2
154759160, 4

Sub-Section Number: 2
Sub-Section I1d: 615475104
Question Shuffling Allowed : Yes

Question Id : 6154752347 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Lea el siguiente texto y conteste a las siguientes preguntas:

La verdad es que un maestro esta en la posesion de verdades y valores de los cuales el
educando carece por completo. De tal modo la inteligencia del alumno es como una
tabula rasa limpia y despejada, en la cual nadie puede, ni tiene el derecho alguno a
escribir nada sino soélo el propio educando porque el principio vital y activo del
conocimiento y el don natural de la libertad que hacen del educando la persona humana
en proceso de realizacion, no viene de fuera ni del maestro, no viene de nada ni de
nadie. Viene desde dentro de la profundidad misteriosa e insondable del educando. El
es el que percibe desde dentro de si mismo, las primeras nociones por medio de sus
experiencias sensoriales y asi solo &l es capaz de ir de lo conocido a lo desconocido en

el dinamico proceso de llegar a ser lo que es hombre singular.

Fuente-www.razonamiento-verbal1. bfogspor.kom

Sub questions



Question Number : 141 Question Id : 6154752348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
. Qué sostiene el autor del parrafo?

(1) La inteligencia del alumno es una “tabula rasa” limpia y despejada en donde el
profesor tiene el derecho de escribir en ella.

(2) Los profesores son las Unicas personas que con sus verdades desarrollan la
inteligencia del humano.

(3) La inteligencia la adquieren los alumnos por medios externos de su persona.

(4) La inteligencia es una “tabula rasa” en la que nadie sino el propio individuo tiene
derecho de escribir.

Options:

6154759161, 1

6154753162, 2

6154759163 3

6154753164, 4

Question Number : 142 Question Id ;: 6154752349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. A qué se orienta fundamentalmente el parrafo leido?

(1) A explicar los procesos de ensefianza-aprendizaje.
(2) A mejorar la capacidad intelectual del alumno en las matematicas.
(3) A orientar los fines de |la educacion secundaria

(4) A mejorar la educacion peruana.

Options:

6154759165 1
6154759166 2
6154759167, 3
154759168 4

Question Number : 143 Question 1d : 6154752350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



iCual de las siguientes expresiones esta implicitamente sostenida en el parrafo

anterior?

(1) Los profesores son mejores cuando mas influyen en la mente de sus alumnos.

(2) Solo el educando es el unico que esta en capacidad de conocer la correcta

orientacion del maestro.

(3) La libertad del hombre se debe a la capacidad intelectual para poder aprender los

valores de su sociedad.

(4) Los maestros deben tener sumo cuidado de ir modelando desde nifiez a sus

alumnos.

Options:

6154759169 1
£154759170. 2
6154759171, 2
6154759172 4

Question Number : 144 Question Id : 6154752351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
; Cual es el antonimo de la palabra insondable?

(1) Profundo
(2) Inexplicable
(3) Superficial

(4) Incomprensible

Options:

6154759173 1
6154759174 2
6154759175 2
6154759176 4

Question Number : 145 Question Id : 6154752352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



;. Cual es el antonimo de la palabra libertad?

(1) \Voluntad
(2) Esclavitud
(3) Privilegio

(4) Dispensa

Options:
£154759177. 1

E154758178. 2
E1547531739 3
E154753180. 4

Question Id : 6154752347 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension

Lea el siguiente texto y conteste a las siguientes preguntas:

La verdad es que un maestro esta en la posesion de verdades y valores de los cuales el
educando carece por completo. De tal modo la inteligencia del alumno es como una
tabula rasa limpia y despejada, en la cual nadie puede, ni tiene el derecho alguno a
escribir nada sino soélo el propio educando porque el principio vital y activo del
conocimiento y el don natural de la libertad que hacen del educando la persona humana
en proceso de realizacion, no viene de fuera ni del maestro, no viene de nada ni de
nadie. Viene desde dentro de la profundidad misteriosa e insondable del educando. El
es el que percibe desde dentro de si mismo, las primeras nociones por medio de sus
experiencias sensoriales y asi solo €l es capaz de ir de lo conocido a lo desconocido en

el dinamico proceso de llegar a ser lo que es hombre singular.
Fuente-www.razonamiento-verbal1. biogspof.|com
Sub questions

Question Number : 141 Question Id : 6154752348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



. Qué sostiene el autor del parrafo?

(1) La inteligencia del alumno es una “tabula rasa” limpia y despejada en donde el
profesor tiene el derecho de escribir en ella.

(2) Los profesores son las unicas personas que con sus verdades desarrollan la
inteligencia del humano.

(3) La inteligencia la adquieren los alumnos por medios externos de su persona.

(4) La inteligencia es una “tabula rasa” en la que nadie sino el propio individuo tiene
derecho de escribir.

Options:

6154759161, 1

6154753162, 2

6154759163, 3

6154759164 4

Question Number : 142 Question Id : 6154752349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

. A gque se orienta fundamentalmente el parrafo leido?

(1) A explicar los procesos de ensefianza-aprendizaje.
(2) A mejorar la capacidad intelectual del alumno en las matematicas.
(3) A orientar los fines de la educacion secundaria

(4) A mejorar la educacion peruana.

Options:

6154759165 1
154759166, 2
6154759167, 2
6154759168, 4

Question Number : 143 Question Id : 6154752350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



iCual de las siguientes expresiones esta implicitamente sostenida en el parrafo

anterior?

(1) Los profesores son mejores cuando mas influyen en la mente de sus alumnos.

(2) Solo el educando es el unico que esta en capacidad de conocer la correcta

orientacion del maestro.

(3) La libertad del hombre se debe a la capacidad intelectual para poder aprender los

valores de su sociedad.

(4) Los maestros deben tener sumo cuidado de ir modelando desde nifiez a sus

alumnos.

Options:

6154759169 1
£154759170. 2
6154759171, 2
6154759172 4

Question Number : 144 Question Id : 6154752351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
; Cual es el antonimo de la palabra insondable?

(1) Profundo
(2) Inexplicable
(3) Superficial

(4) Incomprensible

Options:

6154759173 1
6154759174 2
6154759175 2
6154759176 4

Question Number : 145 Question Id : 6154752352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



;. Cual es el antonimo de la palabra libertad?

(1) \Voluntad
(2) Esclavitud
(3) Privilegio

(4) Dispensa

Options:
£154759177. 1

E154758178. 2
E1547531739 3
E154753180. 4

Sub-Section Number: 3
Sub-Section Id: 615475105
Question Shuffling Allowed : No

Question Id : 6154752353 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension

Complete el siguiente texto con la opcion correcta que se da a continuacion:

No es que el capitalismo sea malo, sino que esta (i) y se revela incapaz ante

un mundo diferente del que le hizo nacer. En sus comienzos, hace cinco siglos, su

codicia radical le (i1) a descubrir océanos, colonizar continentes,
(iii) un humanismo frente a oscuridades teologicas, sembrar ideas con la
imprenta y fomentar el pensamiento y la riqueza: el sistema de vida
occidental (iv) con el dominio del mundo. Pero esa misma codicia ha
(V) la prosperidad con su exageracion permanente, convirtiendose hoy en la

avaricia del anciano que se abraza a su bolsa llena con temor de perderla, pero todavia
ansioso de aumentar el botin.

Adaptado de Jose Luis Sampedro

Sub questions

Question Number : 146 Question Id : 6154752354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



96.  Rellene el hueco (i) del texto:

(1) buscado 2) agonizado
(3) denodado (4) agotado

Options:

6154759181 1
6154759182 2
£154759183 2
51547591584 4

Question Number : 147 Question Id : 6154752355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

97. Rellene el hueco (ii) del texto:

(1) mecio (2) olvidd
(3) concitd (4) impulsod

Options:
61547591551

E154753186, 2
E154753187. 3
5154753188 4

Question Number : 148 Question 1d : 6154752356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

98. Rellene el hueco (iii) del texto:

(1) alentar (2) conminar
(3) atosigar (4) inscribir

Options:

6154759189 1
6154759190, 2
5154759191, 2
5154759192 4

Question Number : 149 Question Id : 6154752357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
99. Rellene el hueco (iv) del texto:

(1) se volvid (2) sefue
(3) se hizo (4) sevino



Options:

6154759193 1
6154759194 2
5154759195 2
6154759196, 4

Question Number : 150 Question Id : 6154752358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

100. Rellene el hueco (v) del texto:

(1) apuntalado (2) socavado
(3) ahondado (4) ahumado

Options:

6154759197 1
£154759198. 2
6154759199, 2
5154759200, 4

Question Id : 6154752353 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehiension

Complete el siguiente texto con la opcion correcta que se da a continuacion:

No es que el capitalismo sea malo, sino que esta (i) y se revela incapaz ante

un mundo diferente del que le hizo nacer. En sus comienzos, hace cinco siglos, su

codicia radical le (ii) a descubrir océanos, colonizar continentes,
(iii) un humanismo frente a oscuridades teologicas, sembrar ideas con la
imprenta y fomentar el pensamiento y la riqueza: el sistema de vida
occidental (iv) con el dominio del mundo. Pero esa misma codicia ha
(V) la prosperidad con su exageracion permanente, convirtiendose hoy en la

avaricia del anciano que se abraza a su bolsa llena con temor de perderla, pero todavia
ansioso de aumentar el botin.

Adaptado de Jose Luis Sampedro

Sub questions

Question Number : 146 Question Id : 6154752354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



96.  Rellene el hueco (i) del texto:

(1) buscado 2) agonizado
(3) denodado (4) agotado

Options:

6154759181 1
6154759182 2
£154759183 2
51547591584 4

Question Number : 147 Question Id : 6154752355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

97. Rellene el hueco (ii) del texto:

(1) mecio (2) olvidd
(3) concitd (4) impulsod

Options:
61547591551

E154753186, 2
E154753187. 3
5154753188 4

Question Number : 148 Question 1d : 6154752356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

98. Rellene el hueco (iii) del texto:

(1) alentar (2) conminar
(3) atosigar (4) inscribir

Options:

6154759189 1
6154759190, 2
5154759191, 2
5154759192 4

Question Number : 149 Question Id : 6154752357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
99. Rellene el hueco (iv) del texto:

(1) se volvid (2) sefue
(3) se hizo (4) sevino



Options:

6154759193 1
6154759194 2
5154759195 2
6154759196, 4

Question Number : 150 Question Id : 6154752358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

100. Rellene el hueco (v) del texto:

(1) apuntalado (2) socavado
(3) ahondado (4) ahumado

Options:

6154759197 1
£154759198. 2
6154759199, 2
5154759200, 4



